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Question Number : 1 Question Id : 7532294653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Letters of a meaningful word is jumbled up and has been numbered. You are required to construct the word and choose the option which gives
the correct order of the letters as indicated by the numbers to form the word.
G-2, T-5, E-1, M-8, A-6, 1-3, N-7, C-4

Options :

1. ® 86275143
2. % 86271534
3. % 86721534
4. % 82671354

Question Number : 1 Question Id : 7532294653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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G-2, T-5, E-1, M-8, A-6, I-3, N-7, C-4
Options :

1. # 86275143

2. % 86271534

3. % 86721534

4, % 82671354

Question Number : 2 Question Id : 7532294654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the following words as per order in the dictionary:
Greaves-26, Greatens-22, Grebe-25, Grecize-23, Greasy-24

Options :

1. # 23-25-26-22-24
2. % 22-25-26-23-24
3. % 24-22-26-25-23
4, % 22-26-25-23-24

Question Number : 2 Question Id : 7532294654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafrRad Wea! &1 AsqHIR & HH & TR TR B
Greaves-26, Greatens-22, Grebe-25, Grecize-23, Greasy-24
Options :

1. ¥ 23-25-26-22-24

2. % 22-25-26-23-24

3.9 24-22-26-25-23

4. % 22-26-25-23-24




Question Number : 3 Question Id : 7532294655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Ink bottle
2. # Ruler

3. % Compass
4. ® Divider

Question Number : 3 Question Id : 7532294655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & e Rfyd % T TuH 81 gTlTe, T faeed 3/ diF ot aRE Tl ¢ | 39 A et o1 I &Y oY 30 ¥ 3T B
Options :

1. ¢ Wil diad

3%”%3133@
4. % f&ageR

Question Number : 4 Question Id : 7532294656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Apple : iphone :: Ambuja : ?

Options :

1. # Laptop

2. ¥ Cement

3. % Pharmaceuticals

4. % Smartphones



Question Number : 4 Question Id : 7532294656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QU

2. ¢ e

3. % 3fiyey

4, % WEHI

Question Number : 5 Question Id : 7532294657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
STEADY : XCZDSR :: EASILY : ?

Options :

1. ¥ XKHRZD
2. % XBTIMZ
3. % XBHIMZ
4, % XKZRHD

Question Number : 5 Question Id : 7532294657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G e &7 797 B Sl R U T I TR F Wi B o TR | g¥R1 U Ul Ue ¥ Jefid B
STEADY : XCZDSR :: EASILY : ?

Options :

1. ¥ XKHRZD
2. % XBTIMZ
3. % XBHIMZ



4. % XKZRHD

Question Number : 6 Question Id : 7532294658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If'CUROSITY" is coded as '10-12-14-16-18-20-22-24" and 'ARDENT" is coded as '13-14-15-17-19-22', then how will you code 'ROSACEOUS'"?
Options :

1. # 14-16-18-13-20-17-16-12-16

2. ¥ 14-16-18-13-10-17-16-12-18

3. % 14-16-18-13-10-19-16-22-18

4. % 14-16-17-13-10-19-16-22-16

Question Number : 6 Question Id : 7532294658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 14-16-18-13-20-17-16-12-16

2. ¥ 14-16-18-13-10-17-16-12-18

3. % 14-16-18-13-10-19-16-22-18

4. % 14-16-17-13-10-19-16-22-16

Question Number : 7 Question Id : 7532294659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the words in a meaningful logical order and then select the appropriate sequence from the alternatives given below:

1. Buy Land

2. Search Land

3. Build Home

4. Home Insurance

Options :

1. # 4321



2. % 1234
3.9 2134
4. % 1324

Question Number : 7 Question Id : 7532294659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yl DI TH TS difches HH T FHafedd B iR B e fou T faswedl & § Sugad 3rIshd &1 99+ He |
1. ST @IS
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Options :

1. ¥ 4321

2. % 1234

3.9 2134

4. % 1324

Question Number : 8 Question Id : 7532294660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qureshi's father is the brother of Patwari and son of Banwari. Sonal is the daughter of Patwari. Banwari has only two sons and no daughters.
How is Sonal related to Banwari?

Options :

1. ¥ Daughter of Banwari's Son

2. % Daughter of Banwari's daughter
3. ¥ Banwari's daughter

4. % Sister

Question Number : 8 Question Id : 7532294660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ §9aR1 D1 Uit

2. % §IRI DI A

3. % S AR B Gl

4. % g8

Question Number : 9 Question Id : 7532294661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankur is the son of Deepika's only son. Ravi is the son of Ankur's Father's sister. Aakash is the father of Ravi's mother. Sumedha is Aakash's only
daughter. How is Sumedha related to Ravi?

Options :

1. ¥ Mother

2. # Sister

3. % Sister of Ravi's mother

4. % Sister of Ravi's Father

Question Number : 9 Question Id : 7532294661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R BT & SHalld T BT T g1 T SR & a1 & 96 &1 T ¢ | MBI, (A o1 AT 67 a1 5 | GAYUT TR BT Shal G g
ﬁﬁ‘&ﬂ“\fﬁﬁﬁ?ﬁiﬁﬁg

Options :
1.« HIdl
2. % dgd
3. % 3fd BI AT BT F5
4. % 3d b U DI g8

Question Number : 10 Question Id : 7532294662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statements
are true, analyze the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statements.

Statement I: Some cups are trays.
Statement II: All trays are spoons.

Conclusion I: Some cups are spoons.
Conclusion II: All spoons are trays.

Options :

1. ¥ Only I follows

2. % Only II follows

3. % Both I and II follows
4. % Neither I nor II follows

Question Number : 10 Question Id : 7532294662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had I 3FIER0T Rl §

2. % Had [ 3IERU HT §

3. % [ 3R 11 ST SFERUI R 5

4. % FN 1SR TSI SFER0 BT §

Question Number : 11 Question Id : 7532294663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the
statements are true, analyze the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.

Statement I: Some perfumes are wine.
Statement I1: All wine are tetra packs.
Statement I1I: Some tetra packs are bottles.

Conclusion I: Some perfumes are bottles.
Conclusion II: Some tetra packs are perfumes.

Options :

1. # Only I follows

2. % Only II follows

3. # Both I and II follows
4. % Neither I nor II follows

Question Number : 11 Question Id : 7532294663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had [ IR0 Il §

2. ¢ Had I 3IERU BT §

3. % 1 3R 11 T 3TER R &




4. % Q1 3R A B 11 SR Rl §

Question Number : 12 Question Id : 7532294664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If '+' means '+, '-' means '+, 'x' means '-' and '+' means 'x', then the value of the expression 75 + 15 - 65 + 13 will be :
Options :

1. * 920

2. % 1130

3. % 1071

4. % 749

Question Number : 12 Question Id : 7532294664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR T S, BT ST 4, 0 T S B SR T SR A 75+ 15 - 65+ 13 BT ET:
Options :

1. # 920

2. 9% 1130

3. % 1071

4. % 749

Question Number : 13 Question Id : 7532294665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Numbers in the following question have been arranged according to an identical pattern. Find out the missing number.



Options :
1. ® 16
2. % 24
3. 144
4. % 120

Question Number : 13 Question Id : 7532294665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 16
2. % 24
3. 144
4. % 120

Question Number : 14 Question Id : 7532294666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following figures represent relationship between- Switzerland, Europe, Australia?
Options :

1. # Image A

2. ¥ Image B

3. # Image C

4. % Image D



Question Number : 14 Question Id : 7532294666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed o @ HH- aepfd - RacoRels, TR, sifeferar & ofw Yee o1 ufaffea addl 82
Options :

1. % BTA

2. ¥ BAB



3. % BfdC

4. % BAD

Question Number : 15 Question Id : 7532294667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rabbit starts running in the west and runs for 20 m. He then turns left and runs another 10 m. He turns left again and runs for 9m. He then turns
right and moves for 5 m. He then turns right and moves 12 m. He finally turns right and moves for another 6m. In which direction is he facing
now?

Options :
1. # East
2. % West
3. % North
4. # South

Question Number : 15 Question Id : 7532294667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T TN U BT 3R SIS1 IR BT § 3R 20 m ISdl ¢ | bR 98 I GSa1 8 3R 10 m 3R SISdT 81 I8 fhR ST ST € 3R 9m
qeais | TR a8 S gSdi € 3R 5 m I ¢ | R a8 T ST & 3R 12 m Iadl 5| 98 3id B G S ¢ 3R 6 m SR IAdAT 81 31
YT 7 fohg fezm # g2

Options :

1. % gd

2. % Uigm

3. ¥ I

4. % gigor

Question Number : 16 Question Id : 7532294668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Somnath starts walking towards the North and walks for 4 Km. He then turns right and walks for 8 Km. He then turns right and walks for 10 Km.
In which direction from the start is Somnath standing?

Options :

1. # East

2. # North East
3. % South East
4. # South

Question Number : 16 Question Id : 7532294668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 7qd

2. % IR G
3. ¢ Ti&urgd
4. % gfgor




Question Number : 17 Question Id : 7532294669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Image A
2. * Image B
3. * Image C
4. ¥ Image D

Question Number : 17 Question Id : 7532294669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bfd A
2. % BfaB
3. % BfdC
4. ¥ BfAD



Question Number : 18 Question Id : 7532294670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The figure series given below follows a sequence. Choose the correct option from the list of answer figures, which should come after at the right
of the problem figures, if the sequence were to be continued.

Options :

1. ¥ Image A

2. # Image B

3. % Image C

4. % Image D



Question Number : 18 Question Id : 7532294670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. BTA

2. % BAB

3. % A C



4. % BAD

Question Number : 19 Question Id : 7532294671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is embedded.

Options :
1. ¥ Image A



2. % Image B

3. % Image C

4. # Image D

Question Number : 19 Question Id : 7532294671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 3BTA

2. % BfAB

3. % Bfdc



4. % BAD

Question Number : 20 Question Id : 7532294672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is embedded.

Options :
1. * Image A



2. % Image B

3. ¥ Image C

4. # Image D



Question Number : 20 Question Id : 7532294672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bfd A

2. % BAB

3. ¢ BfAC



4. % BAD

General Awareness

Group Number : 2

Group Id : 753229246
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness
Section Id : 753229246



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229295
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532294673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following classical Sanskrit texts is a treatise on Indian classical music?
Options :

1. ¥ Brihaddeshi

2. * Taittiriya Brahmana

3. % Ashtadhyayi

4. * Charak Sambhita

Question Number : 21 Question Id : 7532294673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed & I &I 91 IR W d T HRTT R I1iid IR U T 82
Options :

1. geesft

2. # qfRRIgsITEIor

3. % 3Tl

4. % TR Hfga

Question Number : 22 Question Id : 7532294674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Chaturdandiprakashika, ("The Illuminator of the Four Pillars of Music") was written by

Options :

1. # Syama Sastri
2. # Tyagaraja

3. % Purandara Dasa
4. ¥ Venkatamakhin

Question Number : 22 Question Id : 7532294674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS S ITBIIRADT, ('S SegHCR 3Tt g BR e 3t =feres) GRT foret TS <t
Options :

1. % 2UH YR

2. % AR

3. % IRea¥ ¥

4. ¢ dapcHIRAA

Question Number : 23 Question Id : 7532294675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Central Bank of India established?
Options :

1. ¥ 1911

2. % 1915

3. % 1921

4, % 1925

Question Number : 23 Question Id : 7532294675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ted o 3 SfSTT B RITT Hd g3 A2
Options :
1.4+ 1911
2. % 1915
3. % 1921
4. % 1925

Question Number : 24 Question Id : 7532294676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1978, after the Unit Trust of India (UTI) was de linked from the Reserve Bank of India (RBI), which of the following banks took over
regulatory and administrative control over the UTI?

Options :

1. # Industrial Finance Corporation of India (IFCI)

2. # National Housing Bank (NHB)

3. % National Bank for Agriculture & Rural Development (NABARD)
4. ¥ Industrial Development Bank of India (IDBI)

Question Number : 24 Question Id : 7532294676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® YRaw enfies ot v (aren)

2. % TP 3T b (NHB)

3. % P B 3R UTHIUT f[ah™ &b (NABARD)
4. ¥ YR e fawr §& (1IDBI)

Question Number : 25 Question Id : 7532294677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following medicinal plants is not used to treat insomnia?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Calendula

2. Ginkgo Biloba

3. Ginseng

4. Chamomile

Question Number : 25 Question Id : 7532294677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & 9 for sitwefia g o7 I 3ifeT & SUaR 3 forg =&t fowa S 32
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. ﬁg?ﬂ (Calendula)

2. {5+ S1AIET (Ginkgo Biloba)

3. form (Ginseng)

4, MTIET“T (Chamomile)

Question Number : 26 Question Id : 7532294678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states in India has the highest forest cover according to 2019 Assessment?
Options :

1. # Chhattisgarh

2. % Madhya Pradesh

3. ® Arunachal Pradesh



4. % (Qdisha

Question Number : 26 Question Id : 7532294678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 % BT &b IR YR H Fafeiead & 3 fra ITou & Iad $ifie a7 rarur g2
Options :

1. % BT

2. ¥ TH UG

3. % RO UaxT

4. % 3NfSEm

Question Number : 27 Question Id : 7532294679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the largest completed hydroelectric power plant by capacity in India?
Options :

1. % Bhakra Nangal Dam

2. ¥ Koyna Hydroelectric Project

3. % Srisailam Dam

4. % Sardar Sarovar Dam

Question Number : 27 Question Id : 7532294679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & YR § emar & e I 9a9 981 guf safdgyd ureR 94 82
Options :

1. % YRS A9 d1Y

2. ¥ DI STatdggd GRATSHT

3. % SRy Sy

4. % YIGR WIR d7Y




Question Number : 28 Question Id : 7532294680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Urvara and Usara are ancient Indian broad classifications of
Options :

1. # farming methods

2. # cropping season

3. % crops

4. ¥ soil

Question Number : 28 Question Id : 7532294680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR 3R IR P T YR SaTaeh Iiffeun 8|

Options :

1. ® PN Ugfaai
2. % TOd &1 HgH
3. % Hydl

4. ¥ Tl

Question Number : 29 Question Id : 7532294681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The belt that lies at the foot of the Himalayas and comprises of pebbles and rocks brought down by rivers flowing at a fast pace is called the
belt.

Options :
1. ¥ Bhabar
2. # Terai
3. % Bangar
4. ¥ Khadar



Question Number : 29 Question Id : 7532294681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%?ﬁmﬁmﬂﬁﬁm%aﬁ?mﬁﬁﬁﬂ%ﬁﬁaﬁﬁwlmqurQo'bqos 3R T M 8, I UeT Hel
vildl g

Options :
1. ¥ HlsR
2. % WIS
3. % diTs
4. % dla}

Question Number : 30 Question Id : 7532294682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following areas of India are you most likely to find podzol soil?
Options :

1. # Rajasthan

2. # Telangana

3. % Jammu and Kashmir

4. % Bihar

Question Number : 30 Question Id : 7532294682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & FEfRad & 9 forg &3 T o] diewiial Jal fiaH & 9ad 3ifiid JuTaT 82
Options :

1. % ST

2. % QT

3. ¢ S 3R HRUR

4. % fgR



Question Number : 31 Question Id : 7532294683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nehru Report was presented at the All Parties Conference held at Lucknow in the year
Options :

1. % 1924

2.9 1928

3. % 1930

4, % 1932

Question Number : 31 Question Id : 7532294683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ruid oy o TS | S Jdead S | URgd &t 78 At
Options :

1. % 1924

2.9 1928

3. % 1930

4. % 1932

Question Number : 32 Question Id : 7532294684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rulers commissioned the Makkah Masjid?
Options :

1. % Shah Jahan

2. % Muhammad Quli Qutb Shah

3. # Iltutmish

4. % Qutb-ud-Din Aibak

Question Number : 32 Question Id : 7532294684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frofaRad o 9 forw e 3 Aawm! AfIe &1 R &1 2t
Options :

1. % 21 o8l

2. ¥ e Pail Py WM

3. % Foqarusl

4. % $a-3a-¢1F WD

Question Number : 33 Question Id : 7532294685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the author of the Chandayan?
Options :

1. # Abul Fazl

2. # Abdul Qadir Badauni

3. ¥ Amir Khusrau

4. ¥ Maulana Daud

Question Number : 33 Question Id : 7532294685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad § 9 &H deaM & e 82

Options :
1. #® Add Bold

Question Number : 34 Question Id : 7532294686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Neerja Bhanot was awarded the by the government of India for sacrificing her life while saving passengers on the Pan Am
Flight 73.

Options :

1. # Vir Chakra

2. ¥ Ashok Chakra
3. % Shaurya Chakra
4. #* Kirti Chakra

Question Number : 34 Question Id : 7532294686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 4T B YR WRBR gRT UH TH IS 73 H 1301 &1 S=Td U 30 STt o1 iergH & & g I g foar man
YTl

Options :

1. % R T

2. ¢ 3D dh

3. % TRt A%

4. % PIfdIH

Question Number : 35 Question Id : 7532294687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following doctors pioneered the Gamete Intrafallopian Transfer (GIFT) Technique?
Options :

1. ¥ Dr. Indira Hinduja

2. # Dr. Aditi Pant

3. % Dr. Kamini A. Rao

4. # Dr. Jayshree Mondkar

Question Number : 35 Question Id : 7532294687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad o 9 forg fafecis A Tl SethaliUg SRR da-iie &l Jdra- dbdl 82
Options :

1. ¢ 81 Sfer fggat

2. % 1. 3ffefadd

3. % SI. PIUAI TR

4. % 8] SOt i

Question Number : 36 Question Id : 7532294688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is credited with designing the world's smallest satellite?
Options :

1. # G. Madhavan Nair

2. % B.N. Suresh

3. ¢ Rifath Sharook

4. % A.S. Kiran Kumar

Question Number : 36 Question Id : 7532294688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # 3 f5d g & Tad 81 IWE &I fEomz o3 &1 97 fear A 82
Options :

1. % Sff. A1Yad ARR

2. # ST YR

3. ¢ Rbd ARsh

4. % TUY. {01 HER

Question Number : 37 Question Id : 7532294689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following parts of the Indian Constitution consists of articles relating to elections?



Options :

1. % PartV
2. # Part VII
3. % Part X
4. ¥ Part XV

Question Number : 37 Question Id : 7532294689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YReTg Wi & Faffea 7 3 feg um o ghma | Jefid srgwe wnfia 82
Options :

1. * HITV

2. % HITVII

3. % HITX

4. % HIT XV

Question Number : 38 Question Id : 7532294690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which amendment was the process of election of the Vice President changed to an electoral college from joint meeting of Houses?
Options :

1. # 7th Amendment

2. ¥ 11th Amendment

3. % 15th Amendment

4. ¥ 24th Amendment

Question Number : 38 Question Id : 7532294690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIFUR & ITd 1 UfchdT Pl ford TN GRT Fa! BI Y do J Hafas Hed H sad f&ar mar U

Options :




1. % 731 G0
2. 119 SR
3. % 1597 GRMeH
4. % 2431 IRNYF

Question Number : 39 Question Id : 7532294691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian gymnasts became the first to win a medal at the international level?
Options :

1. # Sham Lal

2. # Aruna Reddy

3. % Ashish Kumar

4. % Dipa Karmakar

Question Number : 39 Question Id : 7532294691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed & 9 SH 91 4R SR SIaRTgiy wR W e Siia ald Ugd safed a2
Options :

1. % RIMH dlcd

2. % 3{BUMIS!

3. ¥ IRY HHAR

4. % U HHIBR

Question Number : 40 Question Id : 7532294692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following became the first Indian to be a part of the NBA-title winning team?
Options :

1. ¥ Princepal Singh



2. % Satnam Singh
3. # Palpreet Singh
4. ¥ Amjyot Singh

Question Number : 40 Question Id : 7532294692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o NBA-faTe faordr &1 &1 fewan 994 a1 Ugd URa §92

Options :
1. ¢ fUura Rig
2. % gaH Rig
3. % gauid Rig
4. % AU g
Arithmetic Ability
Group Number : 3
Group Id : 753229247
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 753229247
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 753229296
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532294693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What value should come in place of question mark (?) in the following question?
(15+3+14) x 5361 =2

Options :
1. % 45
2.¥5
3. % 21
4. % 27

Question Number : 41 Question Id : 7532294693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad gy o usaree g (2) & RIF R 1 HE 31 A1fed?
(15+3+14) x 5+361 =2

Options :

1. % 45

2.4°5

3. % 2]

4. % 27

Question Number : 42 Question Id : 7532294694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

On a circular race track one red car, one blue car and one bike are running. Red car covers one round in 36 sec, blue car covers in 24 sec and bike
covers in 30 sec. If they started together, then in two hour how many times they were together at starting point?

Options :
1. ¥ 20
2. % 25
3.% 24
4. % 15

Question Number : 42 Question Id : 7532294694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JAIPHR N ¢h R UD A1d PR, TP el BR 3R TH I8P GIS 36! ¢ | AT DR 36 Yhs T TP FaH 11 Bl ©, A1cl R 24 Jdhe §
3R 912% 30 hs A R AT ¢ 1 1S A TP 1Y TR= R &, a1 & b H fhd- IR 9 RS foig R uep Iy &

Options :

1.¥ 20

2. % 25

3. % 24

4, % 15

Question Number : 43 Question Id : 7532294695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value should come in place of question mark (?) in the following question?

2@)2l)-Q<s6) -

o

1. =



Question Number : 43 Question Id : 7532294695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad us # Usars o (2) & RIF IR &1 74 31 91eW?

:()x2() 2@ x53) -

Options :

Question Number : 44 Question Id : 7532294696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What value should come in place of question mark (?) in the following question?
[{37.4 +152.6} = {185.6-175.6}] % 15.5+35.5=?x82.5

Options :
1. % 1.2
2.9 4
3. % 05
4. % 6

Question Number : 44 Question Id : 7532294696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad us # Usars o (2) & RIF IR &1 74 31 91eW?
[{37.4+152.6} + {185.6 - 175.6}] x 15.5 +35.5=2 x 82.5

Options :
1. %= 1.2
2.9 4
3.% 0.5
4. % 6

Question Number : 45 Question Id : 7532294697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF of two numbers is 15 and their product is 17325. How many pairs of such numbers are possible?
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 45 Question Id : 7532294697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

&l 1S BT HETH JHTAAD 15 § 3R SHH] OHmA 17325 ¢ | T TATsf & fova- g Tva g2
Options :

1. %

2.2

3.% 3

4. % 4

Question Number : 46 Question Id : 7532294698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average daily number of persons passing a certain point on Monday, Tuesday, Wednesday, and Thursday is 1550. The average daily number
passing on Friday, Saturday and Sunday is 2600. What is the daily average for the whole week?

Options :
1. % 2000
2. % 1400
3. % 2100
4. % 2200

Question Number : 46 Question Id : 7532294698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{-IIJ-IdN AR, §YAR 3R TR &1 T Fid fig I TR a1a safaadl o S ¢ Te 1550 § 1 YhaR, TR 3R AqaR o
%ﬁ%ﬂwzmo%mj{w%m%%sﬁww%

Optlons :
1. % 2000
2. % 1400
3. % 2100
4. % 2200

Question Number : 47 Question Id : 7532294699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The ratio of expenditure and savings of a person is 5 : 3. If income increases by 25% and expenditure increases by 30%, then find percentage
increase in savings.

Options :
1. # 8.33%
2. % 16.66%
3. % 20%
4. % 15%

Question Number : 47 Question Id : 7532294699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Afad & T 3R F9d BT U 5 : 3 51 TS 3 T 25% T Ihak BIdll § 3R T H 30% ¥ gik Bdlt &, 1 F9d | Wia=rd gfs I1d He |
Options :

1. % 8.33%

2. 9% 16.66%

3. % 20%

4. % 15%

Question Number : 48 Question Id : 7532294700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a library, 30% of the books are in Hindi, 20% are in English and 18% are in the French. The remaining 28800 books are in regional language.
What is the total number of books in the library?

Options :

1. ¥ 90000
2. % 45000
3. ¥ 54000
4. % 72000

Question Number : 48 Question Id : 7532294700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TP Tadb1ad H 30% G Rl H, 20% 3o & 3R 18% Wit # ¢ | Y 28800 YA &1 HINT H & | TADHId H TAD| &1 Hof H&
FE?

Options :

1. ¥ 90000

2. % 45000

3. % 54000

4. % 72000

Question Number : 49 Question Id : 7532294701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article's marked price is 50% more than its selling price and 100% more than the cost price. If the selling price is increased by 20%, the
difference between the profits earned in both transactions is Rs. 2000. What is the cost price of the article?

Options :

1. ¥ Rs. 7500
2. % Rs. 6500
3. % Rs. 7000
4. % Rs. 9000

Question Number : 49 Question Id : 7532294701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS g BT 3ifdrd Ged ISP fahd T A 50% 31 3R ATd T ¥ 100% HfAF ¢ 1 afe faswa gea 7 20% i 3fg &t it &, dl a1
e | Sffofd Ay & g &7 SfaR 2000 ¥UT § | T HT ARTT o T 52

Options :

1. 7500 U

2. % 6500 ®UU

3. % 7000 %Uq

4. % 9000 >UU

Question Number : 50 Question Id : 7532294702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The ratio of three positive numbers is 3 : 5 : 7 and average of the first two numbers is 32 . What is the difference between the sum of the first two
numbers and the sum of the last two numbers?

Options :
1. ® 36
2. % 28
3. % 16
4, 32

Question Number : 50 Question Id : 7532294702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T eFTET TReATST BT U 3 : 5 : 7 § 3R Uga al IReAT3N T 3f¥d 32 § 1 Ugal ol IReAtafi & T 3iR 3ifad 3l Temmsii & anT & s
&1 SR FT 52

Options :

1. * 36

2. % 28

3. % 16

4. 32

Question Number : 51 Question Id : 7532294703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman started a business with a capital of Rs. 4000. Bunty and Chaman joined after 7 months and 4 months respectively. At the end of the year,
the profit was divided in the ratio 1 : 3 : 7. What is the difference between the capitals invested by Bunty and Chaman?

Options :

1. # Rs. 24800
2. % Rs. 28800
3. % Rs. 42000
4. ¥ Rs. 13200



Question Number : 51 Question Id : 7532294703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{F 7 4000 ¥UT &1 Yol o 1Y Teh I Y= (hdT| St 3R TH AR 7 HEH 3R 4 HelH d1e e §U1 a9 & ofd H, ey & 1:3:7
& SgaTd H fauTfora fopam mam o1| ¢ SR 70 gR1 o= &1 712 Uolt & o9 &1 sfaR A /2

Options :

1. % 24800 ¥UT

2. % 28300 TUYT

3. % 42000 $TT

4. ¢ 13200 3UT

Question Number : 52 Question Id : 7532294704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money at simple interest amounts to Rs. 750 in 3 years and to Rs. 800 in 4 years. The sum is:
Options :

1. ¥ Rs. 650

2. % Rs. 600

3. # Rs. 625

4, % Rs. 575

Question Number : 52 Question Id : 7532294704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TS TR T MR 3 a8 H 750 TUY B SRIER @ 3R 4 I8 H 800 TYY b SRISR ¢ | A @
Options :

1. % 65047

2. % 600 U7

3. % 62500

4. % 575%UU¢



Question Number : 53 Question Id : 7532294705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sandeep is running with a speed of 15 km/hr. By how much percent he has to increase his speed so that he can cover 360 km in four hours less?
Options :
1. # 62%
2. % 20%
66=%

3. %

333%
4. %

Question Number : 53 Question Id : 7532294705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 15 knv/hr B TS T 35 BT 21 IV (1 1l 7 fopat vfarra &1 g w1 it difeh a8 TR 8¢ 7 H 360 cm P G a0 IR Jb?
Options :

1. #® 62%

2.9 20%

2
66 %

3. %

335%
4, %

Question Number : 54 Question Id : 7532294706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A man can row 18 km upstream and 42 km downstream in 6 hours. Also he can row 30 km upstream and 28 km downstream in 7 hours. Find the
speed of the man in still water.

Options :

1. # 8 km/h
2. % 10 km/h
3. % 4km/h
4. % 12 km/h

Question Number : 54 Question Id : 7532294706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fdd 6 e H 4RI B! 2 H 42 km 3R 4RT ) AU Gz & 18 km 71a Il a8 | TU &1 a8 7 € H YRT B =M H 28 km 3R
¢RT 1 AUl fe=m H 30 km 19 I GpaT g | Ui 5Td H ITD! TG F1d o |

Options :

1. % 8 km/h

2. ¢ 10 km/h

3. % 4km/h

4. % 12 km/h

Question Number : 55 Question Id : 7532294707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two pipes A and B, each can fill the tank in 20 hours. Both pipes are opened together and due to leakage it was found that that take 2
hours more to fill the tank. If the tank is full then in what time leakage will empty the tank.

Options :

1. % 75 hours
2. % 80 hours
3. % 60 hours
4. % 50 hours

Question Number : 55 Question Id : 7532294707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

31 UTSYT A 3R B §, TP Th! 1 20 Be & HR Ibd g | SIFI UISUl &bl U 1Y Wierl 7T 3R NI1g & HRU1 I8 U 747 fob Eapt bl WA | 2
He 3 WA 8 | Ife dobl WR TS & ol Rma fpam v & dabt & Tt R |

Options :

1. % 754¢
2. % g0 Ec
3. ¢ 60 ©c
4. % 50°C

Question Number : 56 Question Id : 7532294708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum of radius and diameter of a circle is equal to the length of a rectangle. Breadth of rectangle is 10 cm and area of rectangle is 210 sq. cm. Find
the radius of circle.

Options :
I. * 3cm
2. % 2cm
3. % 4cm

4, % 7 cm

Question Number : 56 Question Id : 7532294708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I B! AT 3R T &1 AN U 3MTId B daTg o SRI6R g | 310d B dIeTs 10 cm 3R T BT &6 210 sq. cm. & | I B B
BIGER

Options :

1. % 3 cm

2. % 2cm

3. % 4 cm

4, % 7 cm

Question Number : 57 Question Id : 7532294709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ratio of radius to height of a cylinder is 2 : 5. If the height of cylinder is reduced by 20% then total surface area of original cylinder is what
percent more or less than total surface area of new cylinder after change of height?

Options :

1. # 80% more

2. % 20% less
1629

3.9 g more

4. % 65% less

Question Number : 57 Question Id : 7532294709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 9T DI BT ¥ FHaATs BT UG 2 ¢ 5 81 AfS I B TS 20% J HH HR o AT 8, A I 97 &1 ol IS &0 d Sarg o
GRacH & §1¢ U 90 & $d g1 &A% d 3 foa-T Ufa=id 3ifeie a1 & H g2

Options :
1. % 80% 3ifereh
2. % 20% hH

1629
3. ¢ 3“3{%

4. % 65% HH

Question Number : 58 Question Id : 7532294710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows total number of students admitted and percentage of students admitted in 3 different streams in a College during the

period 2005-2009.
What is the ratio between number of years in which Science students admitted are more than Commerce students and the number of years in



which Arts students admitted are more than Commerce students admitted?

Percentage of
Percentage of Percentage of
Total number students
students 3 5 students
Year of students PEERGEE admitted in Pl
Sy admitted in R admitted in
Science stream Arts stream
stream
2005 1200 40 FL 15
2006 1060 35 50 15
2007 1450 a0 30 30
2008 1100 30 20 50
2009 1000 55 5 20
Options :
1. % 4.3
2. % 32
3.% 122
4.4 2:1

Question Number : 58 Question Id : 7532294710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
:ﬂ%mﬁnajgéaﬁmzoos-zowﬁ&rafﬁasaﬁmw%mmﬁs SIET-3A WA H Holf gU B &1 o Tvem 3R Bl & ufa=rd &t
|
3T Y P AT 1 Forad Helf §T fasH & ©13, A1fored & B3 3 31fid 3 3R 39 auf &1 T forgd Hdf §T el & ST aTfored & STl
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Question Number : 59 Question Id : 7532294711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following graphs shows the number of students who appeared for a particular exam from four different states from years 2013-2016.

The total number of students who appeared in the exam from all states in the year 2015 is approximately what percentage of the total number of
students who appeared in the exam from all states in the year 2016?

m2013 = 2014 = 2015 - 2016

Number of students
¢ ms L

Madhya Pradeah

Kamataka Tamil Nadu

States




Options :
1. % 95%
2. % 86%
3. % 85%
4. ¥ 93%

Question Number : 59 Question Id : 7532294711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 95%
2. % 86%
3. % 85%
4. ¥ 93%
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Question Number : 60 Question Id : 7532294712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the line graph, data is given about the number of trained male workers and trained female works of different companies.
What is difference between average number of trained males and that of trained females in all companies together?
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Options :
1. # 300
2.9 320
3. % 400
4. % 500

Question Number : 60 Question Id : 7532294712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 300
2.9 320
3. % 400
4. % 500
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Question Number : 61 Question Id : 7532294713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The developing countries began/ to copy and re-create aspects of/ the developed countries economies.
Options :

1. # The developing countries began

2. # to copy and re-create aspects of

3. % the developed countries economies

4. % No Error

Question Number : 61 Question Id : 7532294713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The developing countries began/ to copy and re-create aspects of/ the developed countries economies.
Options :

1. # The developing countries began

2. # to copy and re-create aspects of

3. % the developed countries economies

4. % No Error

Question Number : 62 Question Id : 7532294714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Immediately, almost as if it were a reflex Bastian/ dropped to one knee head bowed as sign of/ respect for the future king of Geneval.
Options :



1. ¥ Immediately, almost as if it were a reflex Bastian
2. ¥ dropped to one knee head bowed as sign of

3. % respect for the future king of Geneval

4. ® No Error

Question Number : 62 Question Id : 7532294714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Immediately, almost as if it were a reflex Bastian/ dropped to one knee head bowed as sign of/ respect for the future king of Geneval.
Options :

1. # Immediately, almost as if it were a reflex Bastian

2. ¥ dropped to one knee head bowed as sign of

3. # respect for the future king of Geneval

4. ® No Error

Question Number : 63 Question Id : 7532294715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Even as it proclaimed a socialist state in 1960, (it was relying on these sources for half of it's) development funds.
Options :

1. # it has been relying on these sources for half of it's

2. ¥ it was relying on these sources for half of its

3. % it has been relying on these sources off half of it's

4. ® No correction required

Question Number : 63 Question Id : 7532294715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Even as it proclaimed a socialist state in 1960, (it was relying on these sources for half of it's) development funds.
Options :

1. # it has been relying on these sources for half of it's

2. % it was relying on these sources for half of its

3. # it has been relying on these sources off half of it's

4. ® No correction required

Question Number : 64 Question Id : 7532294716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The possible side effects of these, when used externally on the (skin, include burning and itching of) the skin.
Options :

1. # skin, including burning and itching of

2. % skin, includes burning and itching of

3. # skin, can include burning and itching off

4. ® No correction required

Question Number : 64 Question Id : 7532294716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The possible side effects of these, when used externally on the (skin, include burning and itching of) the skin.
Options :
1. # skin, including burning and itching of

2. % skin, includes burning and itching of



3. % skin, can include burning and itching off

4. # No correction required

Question Number : 65 Question Id : 7532294717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

He was referring to my counter-argument about the of low-carbohydrate diets.

Options :

1. ¥ efficacy

2. % elegy

3. % entitlement

4. % eulogy

Question Number : 65 Question Id : 7532294717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

He was referring to my counter-argument about the of low-carbohydrate diets.

Options :

1. ¥ efficacy

2. % elegy

3. # entitlement

4. % eulogy

Question Number : 66 Question Id : 7532294718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



When you try to be you altogether cease to be useful.

Options :

1. ¥ facetious
2. # fastidious
3. % fortuitous
4. ® frugal

Question Number : 66 Question Id : 7532294718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

When you try to be you altogether cease to be useful.

Options :

1. ¥ facetious
2. # fastidious
3. % fortuitous
4. # frugal

Question Number : 67 Question Id : 7532294719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Never lost from
P. side of space, but also
Q. not only on the other

R. God who exists



S. memory is the transcendent

on the other side of time.
Options :

1. ¥ SRQP

2. % PQRS

3. % RQPS

4. % SPQR

Question Number : 67 Question Id : 7532294719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Never lost from

P. side of space, but also

Q. not only on the other

R. God who exists

S. memory is the transcendent

on the other side of time.
Options :

1. ¥ SRQP

2. % PQRS

3. % RQPS

4. % SPQR

Question Number : 68 Question Id : 7532294720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

According to myths and stories composed long after the Iliad, Thetis was extraordinarily concerned about her baby son’s mortality.
P. She burned him over a fire every night, then dressed his wounds with ambrosial ointment.

Q. She did everything she could to make him immortal.

R. She dunked him into the River Styx, whose waters were said to confer the invulnerability of the gods.

S. However, she gripped him tightly by the foot as she dipped him into the river—so tightly that the water never touched his heel.

As a result, Achilles was invulnerable everywhere but there.
Options :

1. % PSQR

2. ¥ QPRS

3. ¥ QSPR

4. ¥ RPQS

Question Number : 68 Question Id : 7532294720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

According to myths and stories composed long after the Iliad, Thetis was extraordinarily concerned about her baby son’s mortality.
P. She burned him over a fire every night, then dressed his wounds with ambrosial ointment.

Q. She did everything she could to make him immortal.

R. She dunked him into the River Styx, whose waters were said to confer the invulnerability of the gods.

S. However, she gripped him tightly by the foot as she dipped him into the river—so tightly that the water never touched his heel.

As a result, Achilles was invulnerable everywhere but there.
Options :



1. % PSQR
2. ¥ QPRS
3. % QSPR
4. % RPQS

Question Number : 69 Question Id : 7532294721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

insular

Options :

1. % parochial

2. # circumscribed
3. # isolated

4. ¥ unbiased

Question Number : 69 Question Id : 7532294721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

insular

Options :

1. % parochial

2. # circumscribed
3. # isolated

4. ¥ unbiased

Question Number : 70 Question Id : 7532294722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below



untenable
Options :

1. # exuberant
2. ¥ illogical
3. # depressed

4. % controvert

Question Number : 70 Question Id : 7532294722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

untenable
Options :

1. # exuberant
2. ¥ illogical
3. # depressed

4. % controvert

Question Number : 71 Question Id : 7532294723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ loquacity

2. # loquicity

3. # loquocity

4. # logacity

Question Number : 71 Question Id : 7532294723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ loquacity

2. # loquicity

3. % loquocity

4. # logacity

Question Number : 72 Question Id : 7532294724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ disparete

2. # dupe

3. % elicit

4. # dirge

Question Number : 72 Question Id : 7532294724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ disparete

2. # dupe

3. # elicit

4. % dirge

Question Number : 73 Question Id : 7532294725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



An eye wash
Options :

1. ® To avoid talking
2. % A pretence

3. # In writing

4. % A rare event or occurrence

Question Number : 73 Question Id : 7532294725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

An eye wash
Options :

1. % To avoid talking
2. ¥ A pretence

3. # In writing

4. # A rare event or occurrence

Question Number : 74 Question Id : 7532294726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning

Used to denote a situation whose outcome is not decided until the very last minute.
Options :

1. ¥ Down to the wire

2. # From rags to riches

3. % Give him the slip

4. # Close but no cigar

Question Number : 74 Question Id : 7532294726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning

Used to denote a situation whose outcome is not decided until the very last minute.
Options :

1. ¥ Down to the wire

2. # From rags to riches

3. # Give him the slip

4. # Close but no cigar

Question Number : 75 Question Id : 7532294727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Fond of company
Options :

1. ¥ Gregarious
2. % Grunt

3. % Grove

4. # Granary

Question Number : 75 Question Id : 7532294727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Fond of company
Options :

1. ¥ Gregarious
2. % Grunt

3. % Grove

4. % Granary



Sub-Section Number : 2
Sub-Section Id : 753229298
Question Shuffling Allowed : Yes

Question Id : 7532294728 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Can you imagine a deaf woman writing stories about a war? Well, Laura Redden Searing did this. Moreover, she went to foreign countries to
write stories. She was very ill when she was 11 years old. Because of this, she lost her hearing. She went to the Missouri School for the Deaf.
Laura was 19 years old when she went to work for a newspaper. She wrote about people, places, and art. In 1859, most women were wives and
mothers. They did not work outside the home; otherwise, their husbands would be angry. Due to this feeling, Laura used a man's name when she
wrote her stories. She called herself Howard Glyndon. She thought that unless she used a man's name, people would be hostile since they did not
think that women should write for newspapers. However, she would have no trouble provided that people did not know she was a woman.

Sub questions

Question Number : 76 Question Id : 7532294729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How old was Laura when she started working?
Options :

1.¥ 19

2. % 11

3. % 17

4, % 21

Question Number : 77 Question Id : 7532294730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Laura disguise or true identity?

Options :

1. % To be able to reap same benefits as other men in the same industry.

2. % Ttis a norm/ practice for writers to hide their true identity.



3. % To avoid and escape hostile reception from the society and men in specific.

4. % It was important to keep her identity secret as she wrote for a newspaper.

Question Number : 78 Question Id : 7532294731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of company did Laura first work for?
Options :

1. # Hospital

2. % Law Firm

3. ¥ Newspaper Company

4. # Footwear Company

Question Number : 79 Question Id : 7532294732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # Laura used a pseudo name which was Howard Glydon to hide her true identity.

2. ¥ Laura was born deaf and attended the Missouri School for the deaf.

3. # Laura was a journalist who wrote about wars amongst other things.

4. % Laura lost her hearing due an illness.

Question Number : 80 Question Id : 7532294733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following did Laura not write about?
Options :

1. ¥ Fashion

2. % Art

3. % People

4. % Wars



Question Id : 7532294728 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Can you imagine a deaf woman writing stories about a war? Well, Laura Redden Searing did this. Moreover, she went to foreign countries to
write stories. She was very ill when she was 11 years old. Because of this, she lost her hearing. She went to the Missouri School for the Deaf.
Laura was 19 years old when she went to work for a newspaper. She wrote about people, places, and art. In 1859, most women were wives and
mothers. They did not work outside the home; otherwise, their husbands would be angry. Due to this feeling, Laura used a man's name when she
wrote her stories. She called herself Howard Glyndon. She thought that unless she used a man's name, people would be hostile since they did not
think that women should write for newspapers. However, she would have no trouble provided that people did not know she was a woman.

Sub questions

Question Number : 76 Question Id : 7532294729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How old was Laura when she started working?
Options :

1.¥ 19

2.% 11

3.% 17

4, % 21

Question Number : 77 Question Id : 7532294730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Laura disguise or true identity?

Options :

1. # To be able to reap same benefits as other men in the same industry.

2. % Ttis a norm/ practice for writers to hide their true identity.

3. ¥ To avoid and escape hostile reception from the society and men in specific.

4. % Tt was important to keep her identity secret as she wrote for a newspaper.



Question Number : 78 Question Id : 7532294731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of company did Laura first work for?
Options :

1. #® Hospital

2. # Law Firm

3. ¥ Newspaper Company

4. ® Footwear Company

Question Number : 79 Question Id : 7532294732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. #® Laura used a pseudo name which was Howard Glydon to hide her true identity.

2. % Laura was born deaf and attended the Missouri School for the deaf.

3. % Laura was a journalist who wrote about wars amongst other things.

4. ® Laura lost her hearing due an illness.

Question Number : 80 Question Id : 7532294733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following did Laura not write about?
Options :

1. ¥ Fashion

2. % Art

3. # People

4. ® Wars
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Question Number : 81 Question Id : 7532294734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁyﬁ«r@au&rﬁ,w@mﬁﬁ@r,wﬁwmwﬁa‘r%% Vg 9Tl T8 faded 81|
dg HMYGIR UgdhR g+ T |

Options :

1. % Ggad febar




2. % Amyrq foean
3. % TROTe fopa
4. ¢ qdepIiered foba

Question Number : 81 Question Id : 7532294734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & 3, 39 9wy &1 T &2 &Y fha1 & Ne are I8! fase 8l
98 3EER Ugeh Tg 4|

Options :

1. % Ggad o

2. % HYrq fobar

3. % UROme o

4. ¥ QapIaS foha

Question Number : 82 Question Id : 7532294735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR fowddl 7 9, 39 fdwed &1 997 B3 S 3/ & U HT et fabed gl
el Uga & dl 39 § R IR A HHOR 7

Options :

1. % fopar foRivor sreqg

2. % ASYSIYD T

3. ¢ GHAGEIYD 3T

4. ® qEOIcSy® /g

Question Number : 82 Question Id : 7532294735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad Uy o, aR fowed! & T, 39 fdwed &1 999 &< Sl 3 & NG &1 gl [dded gl
AT Ue- H o Il € TR<] IRR ¥ FHOR ]



Options :

1. % fopar fa=IeoT sfeoy

2. % JeYSIYPH Y

3. ¥ GHAGEIYD 3y

4. % fowariediys 3fag

Question Number : 83 Question Id : 7532294736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofed Uy 8, IR fawmed! § 9, 39 fadhed &1 997 B il HIadrad 4311 &1 el [dded T 5
Options :

1. # dicqcy

2. % dddg

3. % 9ad

4. ¢ faba

Question Number : 83 Question Id : 7532294736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! & 9, 39 [9oed &1 997 &< ol HIdarad U3 &1 Hal [ddhed 7ol o
Options :

1. % 9y

2. % dddg

3. % dad

4. ¢ famd

Question Number : 84 Question Id : 7532294737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , TR fowedl § 9, 39 fawe &1 999 &3 ol Y Vs &1 Ta! [dbed 7

Options :




1. % 3
2. % 3efT
3. ¢ 3
4. % 3

Question Number : 84 Question Id : 7532294737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, IR fawedl & 9, 39 fddhed &1 999 o Il YG Xeg b ol [ddhed o
Options :

1. % 3ffe

2. % 3EfA

3. ¢ 3

4. % e

Question Number : 85 Question Id : 7532294738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiad Uy & IR fabedl & T, 39 9 ey &1 999 &1 o faT U Weg & FHMRI Weg &1 fabey 7T 21
T -

Options :

Question Number : 85 Question Id : 7532294738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 foweu &1 97 &% St feT 7T Weg & JHMRIT Weg &1 fapey 7Y B
T -




Options :

Question Number : 86 Question Id : 7532294739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR el 7 9, 39 fahcd o1 987 & o fadiH Weg &1 e 331 fabeu g |
W

Options :

1. % HAY

2. % qldl

3. # fbRT

4. % HOY

Question Number : 86 Question Id : 7532294739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol gy o, IR faded! 7 9, 39 [dded &1 997 &< ol fadH eg &1 9ad 331 f[awbed 5|
Pyl

Options :
1. % HiEH
2. ¥ qIdl
3. % fbART
4. % HOY

Question Number : 87 Question Id : 7532294740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafRad Uy H, IR [Adpcul 7 9, 39 I8! f[dmed &1 99 B3 Sl d1aiRl & ol U Weg, &l [ddhed |
ot fpft faiy g e € A )

Options :

1. % 3URyY
2. % 3y
3. ¢ S
4, % 3AHqH®]

Question Number : 87 Question Id : 7532294740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy &, IR fawed § Q, 39 U8t faswed &1 70 & o arei & o U s &1 fadwed 81|
Sl forddt fa=iy w99 de &1 ArL 8!

Options :

1. % SUREY
2. % JYgY
3. ¥ ST
4. % e

Question Number : 88 Question Id : 7532294741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy &, IR ieedl 7 9, 39 9t &1 987 & ot 3T 7T a1 & ol uaf & Ve 1 9ad 331 faheu g |
i fhamr 3T fhdhe Wa BT &

Options :

1. ® yefaenae
2. % gufdrd®
3. ¢ A«
4. % JRYIIdH

Question Number : 88 Question Id : 7532294741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy &, IR ieedl 7 9, 39 fahcd o1 987 &% ot 3T 7T 9/ & ol ugf & Ve 1 9ad 331 faheu g |
g fHamr 3T fhhe Wa BT &

Options :

1. % Yafaeided
2. % gufdrd®
3. ¢ IAWdIYSH
4. % JRYIIdH

Question Number : 89 Question Id : 7532294742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 f[ddhed &1 909 o Sl PG a1 T oy 33T fddved 5|
Options :

1. ¢ A% Gl BT Tgal 4 UraH ot fom1 fedt ot o &t enifdfer @ amfores umifa =161 81 I

2. % Afdew Gedl q Tod1 § ure fort fom fansht off Tomet wR enfies o amnfores rfa <7et 81 e

3. % Afdew Yol H1 Tgdl ¥ UTer fort fom fonddt off Tors ot aifdfes @ qrTfores Tt el &) o1 Tehcl! g
4. % AfdP Ul BT Tedl R UTeH o for ot off Tt § ofdfes @ wrfores w8t 81 b

Question Number : 89 Question Id : 7532294742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrofaRad vy 5, IR fawedl § 9, 39 f[ddhed &1 909 o Il Y a1 &1 oy 33T fdwed 5|
Options :

1. ¢ Afa% gedl &1 Ted 9 urad bt fom fsh off garms &t snffes @ wmnfSies wifa =161 8) e

2. % Afae O I Todr ¥ uraH ot fom faredht +ft aare wR snffes o amfores wifa 18t 8 g

3. % A Yol BT Tl ¥ UTer ot fomT fonddt off T ot 3ifdfes @ qrTfoies Wt el 81 T Tabcl! g
4. % AP YOl BT Tgal W UraH T fo1 foedt oft et & sifdfes T arnfores fa el 81 Tevd|

Question Number : 90 Question Id : 7532294743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fofefed uy §, IR el 7 9, 39 faweu &1 997 &3 St Tg! a1a Ve &1 fabeu gl
S TRRT 5, 3R SUH g9 faym g1

Options :

1. % A IR

2. % iy gty

3. ¢ JYId aIH

4. % Jcgdrdaed ar

Question Number : 90 Question Id : 7532294743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed gy §, IR fawed! 7 9, 39 [ddey &1 997 &< ol gl aled He $ fadbed gl
<19 IRRT €, 3R 54T 49 fayr 3|

Options :

1. # IR dI

2. % oy are

3. ¢ JYad aI

4. % Fogarad A

Question Number : 91 Question Id : 7532294744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 fawed &1 70 &1 S fou T8 argy & e gia & e &1 ve o1 [dsed g |
3R Hrarslt 31 SE at & +f =raan)

Options :

1. % fqury

2. % g
3. % Hagrd
4. Hbard




Question Number : 91 Question Id : 7532294744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fawedl § 9, 39 faswey &1 999 &3 Sl foU TU arag & forw gy & Y o1 9o o1 fased ]
3R HTATST 31 57T at & +t =rerdn

Options :

1. % faem
2. % gy
3. % dagrd
4. Gbard

Question Number : 92 Question Id : 7532294745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied vy o, IR fawedl O 9, 39 fadhed &1 997 o Sl fav g gad a1 &1 9gl fadbe 51|
Options :

1. * P @ U BR) 9gd HHSR 81 MU )|

2. ¢ $© W01 BRI, §gd HHSIR &1 Y g

3. % Do Wl U1 B, 9gd HHGR 81 T B)|

4. % $o, @A U1 AR, Igd HHGIR 81 T 7))

Question Number : 92 Question Id : 7532294745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed us o, IR fasedl § 9, I fddhed &1 9= B Sl favH g god a1 &1 Tal fddbed gl
Options :

1. % $o T U1 ARl 9gd HHSIR 81 T g

2. ¥ $B GI-01 B, 9gd HHSIR g1 T 3|

3. % o W U1 B, 9gd HHSIR 81 T &)

4. % $o, @1 U AR, 9gd HHGIR 81 T 7))




Question Number : 93 Question Id : 7532294746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawey &1 999 &3 Sl foU U didifad &1 Tat o arar fawed §1
R T 781 < gfedr Iat Y-

Options :

1. % §gd o™ gl

2. % AIY B ATH BT

3. ¢ o1 fammar B

4. % IS Jhadl BT

Question Number : 93 Question Id : 7532294746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed uy 8, aR fowedl § T, I faswey &1 999 &3 il foU U deifad o1 gat o1 aren fased g1
R Y 981 aF gfedr gat YAm

Options :

1. % §gd dod gl

2. % QY I A1y gIFT

3. ¢ ol fagmar &1

4, % (IS JHdl B

Question Number : 94 Question Id : 7532294747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy o, TR fawel § 9, 39 fadhed &1 7= B S <t 718 HaTdR &1 Uet 3 arer fased g |
ESEIRERR]

Options :

1. % 3fdd 9FH

2. ¢ BHIRAT fe@r T




3. % R A O
4. % =g

Question Number : 94 Question Id : 7532294747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed vy &, IR fAeedl § 9, 39 fased o1 997 3 ol 31 71 FoTaX &1 et 3 aren fddbeu 3|
ESRIRCEE]

Options :

1. % 3fdd 9xH

2. ¥ BRI fe@r T

3. % GRAM WA

4. % P8

Question Number : 95 Question Id : 7532294748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fowenl # 9, 39 fadhed &1 797 & Sl < 718 GgTdR &1 e 3 g fdwed g |
Al G BT 1Y §IHT

Options :

1. ¢ 9 HeY g

2. % YART Sl

3. % foodil o DI H T
4, % AHARR gl

Question Number : 95 Question Id : 7532294748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad vy 5, IR fawedl § 9, 39 fddhed &1 90 o S &1 715 GgTaX &1 9gt o aretl fddbey 5
il G T 1Y BT

Options :




1. ¢ 9y gy g

2. % GRS

3. % fordll o B H BT
4. % IR T

Sub-Section Number : 2
Sub-Section Id : 753229300
Question Shuffling Allowed : Yes

Question Id : 7532294749 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

T fou T e o 91 5 Uy AU T B | 39 IR ®l ATHYad Ug SR R fawedl § ¥ Udd Uy &1 9araH SR I |

REINCIRGICAR R SITROT Ul YR H fpell-A-fet &0 & 3ifiead g1 8T o, Ford HRadr & A1y SMeyf=ehdl o1 S 47|
W fadere A at , Zicis 3Tfe; <=M ¥ HR eiedx Yd 3R Ui & 9 Il & AfRTe I YR & YA S &1 Wy 3T o7
3811 A1 6 YR 3R ufym &t gt 71fd Ud 3520 7 §, TR HRd &1 SR 81T, S RI U4 Tifd-fagy &1 anr=r g, fifera grax
QR I SARATEI, TRIS ST DI BT GREARIIV HIFDR ITh! YT B! G111, ITDT ST DA R | fddebria 1 7d UT fob HRe H ot
o afts 8, 98 Sa1 1 A1y 2 1 Tt TRIe 3URTY Td Urg Y § a1 SRal Bt e gt Bl 3ifiieh UehTer bt sevd 81 4 Tmed A fb &H
g, o, -t BT WIS A iR 7Td ¥ F8-8H T HTS HRAART € | IS B AT ST, 3GH! BT 39 ST 3Ta%ad § | 4 Tt
fRrem a1f3u ot 89 TP R A4, BHEE, ST 9T I |

Sub questions

Question Number : 96 Question Id : 7532294750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tw5E & IR fdadTHe = T U1 ¢l U1
Options :

1. % Ud 3R UfdH & 3T &l

2. % YR & ST BT

3. % fAdRI & 3UR URA & [ahr™ &1

4. v HRA D SMYFD I BT

Question Number : 97 Question Id : 7532294751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fIapTe & SUR Rl &I Bt e &1 oed g2
Options :

1. % 3l e < areft

2. % I fqebr B areit

3.  3TCH! I TEH! S et

4. % oot @1 Y 9 UgaA arel!

Question Number : 98 Question Id : 7532294752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[qdepTia & SR fobdl 3Hfeieh UehT=T 1 TRevel 87
Options :

1. % Rl @I

2. ¥ YD DI

3. ® JHIGRI I

4. % gt AT DI

Question Number : 99 Question Id : 7532294753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T DIF-A1 S BT el 2eg 82
Options :

1. ¢ Ud-

2. % faor

3. % g

4. % FAfd

Question Number : 100 Question Id : 7532294754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y TG Bl Dlg SUGad Loeb-




Options :

1. % PG SR

2. % T IR 3ifrféra «im

3. ¢ fadeTHg Sft &1 9u-T

4. % fae=f 3R yRdT &1 fieE

Question Id : 7532294749 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

I fou T e o 91 5 Uy AU TR B | 39 TR ®l AHYad e SR dR fawed § ¥ Udd Uy H1 9arad SR I |

REINCIRGICAR R SITROT Ul YR H el A-fet &9 o 3ifiemad g1 8T o, s YRadr & A1y STefehdl ol S 47|
Tt fadereg A , 3103 3fife; TN F YR Aleah gd 3R Uiy & 9% dal & QR I YR &1 YAE S 61 WY 3T AT
3811 AT b YR 3R ufym & gt 71 T 3520 37 §, TR YR &I SR 81T, HUHRI T4 SM1fd-fagy &1 a1 gi, fifer grax
AR DI SHMRAT, TRIS ST Bl BT “GREARIIV AFDR IDT Yol A1 B, IhT SYH AT N | fddebrie b1 7 Ul fob YR H ot
fTaT GRS §, 98 ST 81 1Y & | T§T TRIsT 3URTY Ud UTY 81 § IUT GRGl D1 Ue Ufal &l e TR &1 oiexd ¢ | d 9Ted 3 for gH
Fra, s, fvg-aaft o WS T SR 7Td ¥ F-8H T HIS HRAIRY § | A &1 AT §-H1, STSH! &1 ST ST 3Taae § | g8 Ut
fRrem =1fRT St g8 TR} A, gHES ST ST b |

Sub questions

Question Number : 96 Question Id : 7532294750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tw5E b IR fdadpTe = T U1 G4 UT?
Options :

1. % Ud 3R UfdH & 3T &l

2. % YRAITAI & 3ICRTG Bl

3. % fadR & SR URA & a6

4. ¢ URA DI YD T &l

Question Number : 97 Question Id : 7532294751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fqd@Tig & STIR HRIT! B Bl FRIET B T==d 82
Options :

1. % 3ol fRrem < areft

2. # W faPhr S arcit

3. ¥ 3{GH! B TGH! - arai!

4. % T3t ol Wt 1 gga=A arelt

Question Number : 98 Question Id : 7532294752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fadeTe & UR fhd TP UHT B TReRd 82
Options :

1. % aRgl ol

2. ¢ YD DI

3. # JHIGRI I

4. % gt &I Bl

Question Number : 99 Question Id : 7532294753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH ¥ D H-91 I BT [JAH Weg 572
Options :

1. Udd

2. % fqry

3. % g

4. % FAd

Question Number : 100 Question Id : 7532294754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3G B g JUYad Y-
Options :




1. % P SR

2. % e SR SifRrféra <im
3. ¢ fadeTHg Sft &1 9u-T

4. % faazft 3R YR &1 fiem

Disciplinel
Group Number : 6
Group Id : 753229250
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 753229250
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229301
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532294755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In general, early childhood indicates the period of a child from to
Options :

1. ¥ Prenatal to 8 years
2. % 0to 3 years
3. % 3to 6 years
4. % 6to 8 years

Question Number : 101 Question Id : 7532294755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS STeaTaRIT HT 3afe) 1 5?2
Options :

1. ¥ Uayd 9§ 8 99

2. % 0¥ 3aY

3. % 39 6ay

4.% 698 ay

Question Number : 102 Question Id : 7532294756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shanthiniketan, a model school established in West Bengal is designed by
Options :

1. # Gijubai Badheka

2. ¥ Rabindranath Tagore

3. # Mahatma Gandhi

4. % Maria Montessori

Question Number : 102 Question Id : 7532294756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



oy S # wifd wifdfdar  gRT SN feud Ush Hisd Whd g
Options :

1. ® fUTE ST (Gijubai Badheka)

2. ¢ TEigTY AR (Rabindranath Tagore)

3. % g Mgt (Mahatma Gandhi)

4. % TIRAT i< -y (Maria Montessori)

Question Number : 103 Question Id : 7532294757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the Philosophy with the founder?

Philosophy Founder
1.Kindergarten a. John Dewey

2. Freedom in learning b. Friedrich Froebel
3. Laboratory school ¢. Maria Montessori
Options :

1. % 1-b, 2-a, 3-c
2. % 1-a, 2-b, 3-c
3. % 1-c, 2-b, 3-a
4.9 1-b, 2-c, 3-a

Question Number : 103 Question Id : 7532294757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 DI I TR T FAferd ST |

RIS SRS

1. fhsaméq a. (Dewey)

2. 3{fEATH H Tad=dn b. W\@T’[ (Froebel)

3. YRR faened . Hiedst (Montessori)

Options :
1. # 1-b, 2-a, 3-c



2. % l-a, 2-b, 3-c
3. % 1-c,2-b, 3-a
4. % 1-b, 2-c, 3-a

Question Number : 104 Question Id : 7532294758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National ECCE policy was put in force in the year
Options :

1. % 1975

2. % 2000

3. % 2010

4.9 2013

Question Number : 104 Question Id : 7532294758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST ECCE il ford oy & e b1 718 ot
Options :

1. #® 1975

2. % 2000

3. %2010

4.4 2013

Question Number : 105 Question Id : 7532294759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the system of education that stresses upon self-control and self-directed activity
Options :

1. ¥ Montessori

2. % Kindergarten

3. ¥ Head-start



4. % Play-way

Question Number : 105 Question Id : 7532294759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § - ik WA Rg nfafaf R 9@ 37 arel fRien yoneh 1 uge™ S|
Options :

1. ¢ HACIRI (Montessori)

2. % fHFewmda (Kindergarten)

3. % S W (Head-start)

4. ® T (Play-way)

Question Number : 106 Question Id : 7532294760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main aim of providing quality care and education during the early years is to
Options :

1. # educate the child in reading and writing

2. ¥ facilitate the child to develop as a holistic individual

3. # provide good nutrition

4. ® enable the child to learn life skills

Question Number : 106 Question Id : 7532294760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R Iuf &b SR TUIGTYUl S/HT 3R R U™ B T Tod I2.=T 1 &Il 82
Options :

1. % g B UG 3R foram & e &

2. ¢ = DI TP A afad & F0 § fasRid w31 § eraar &l

3. % ITH V0T ST DR

4. % g DI Sitad HIYA ARG | GeH 1




Question Number : 107 Question Id : 7532294761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The synaptic connections of the child’s brain are at its peak at the end of
Options :

1. % pregnancy

2. % 3years

3. ¥ 5 years

4, % 8 years

Question Number : 107 Question Id : 7532294761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & Sty e (R Bawr) fbg 3img & oid § 3U TRA R EId 82
Options :

1. % TYaRI

2. % 394

3.4 579

4.% 39y

Question Number : 108 Question Id : 7532294762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is false in understanding the term ‘development’?
Options :

1. ¥ It denotes structural and physical changes

2. # It denotes improved acquisition of skills

3. # It is not indicative by nature

4. # It is qualitative

Question Number : 108 Question Id : 7532294762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 oF 1 e faer T &) gHg & fow It 78t 82
Options :

1. ¢ g WS IR AR uRad=l &1 Sy dxar s

2. % U HIA P dgcR AU &I Ay drar g

3. % 3D UPd Hibiddb Tal gl &

4. % g UMD gial §

Question Number : 109 Question Id : 7532294763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Head to toe pattern of development is called
Options :

1. #® Proximodistal

2. ¥ Cephalocaudal

3. # Phylogenetic

4. ® Ontogenetic

Question Number : 109 Question Id : 7532294763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAdhI & 3MTUTE AP (38 ¢ ) Ufaey (e P 31 Fel oIl 82

Options :

1. % FHIGGRINTA (Proximodistal)
2. ¢ Qﬂﬁ—w (Cephalocaudal)

3. % SIAgid (Phylogenetic)

4. % W(Omogenetic)

Question Number : 110 Question Id : 7532294764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Match the columns

Domain of development Sub- areas
1.Physical and motor a. Imagination

2. Social-emotional b. Brain development
3. Cognitive c. Moral development
Options :

1. % 1-b, 2-a, 3-c
2.9 1-b, 2-c, 3-a
3. % 1-c, 2-a, 3-b
4. % 1-a, 2-c,3-b

Question Number : 110 Question Id : 7532294764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{75 1 gAferd BT

g BT 39-84

1. RN 3R U=t a. BT

2. FTHIN® - HIGATH S b. AR fawrg
3. GAMTEHD c. Afae g

Options :

1. # 1-b, 2-a, 3-c
2.% 1-b, 2-c, 3-a
3. % 1-c, 2-a, 3-b
4. % 1-a, 2-c,3-b

Question Number : 111 Question Id : 7532294765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Changes in size and structure of the body fall in the domain of development.

Options :



1. ¥ Physical
2. % Social
3. % Cognitive

4. % Emotional

Question Number : 111 Question Id : 7532294765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRR P MHR SR W1 H uRkac b & T&H P RT3 5|
Options :

1. ¢ ARIND

2. % TSI

3. % UAATHD

4. % Y[dATHD

Question Number : 112 Question Id : 7532294766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the principle of development

What develops first? Principle

1. Hands before fingers a. Cephalocaudal
2. Arms before legs b. Proximodistal
3. Head before trunk c. Proximodistal
4. Legs before toes d. Cephalocaudal
Options :

1. ® 1-d, 2-b, 3-a, 4-c
2. % l-a, 2-c, 3-b, 4-d
3. ¥ 1-c, 2-a, 3-d, 4-b
4. % 1-d, 2-a, 3-b, 4-¢

Question Number : 112 Question Id : 7532294766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faer o Rigia o1 fidE &1

Ugd R fIe g gl 22 g

1. 3fferat & gd g1y a. MY-TS5H

2. TAT ¥ gd YWY b. THIUGRIHTE
3. 4S Y ga RR c. gHITGRINTE
4. I 4 gd i d. AY-g=®
Options :

1. ® 1-d, 2-b, 3-a, 4-c
2. % l-a, 2-c, 3-b, 4-d
3. ¥ 1-c, 2-a, 3-d, 4-b
4. % 1-d, 2-a, 3-b, 4-¢

Question Number : 113 Question Id : 7532294767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Employee finishing project on time to receive praise or promotion is
Options :

1. ¥ Operant conditioning

2. % Classical conditioning

3. ¥ Habituation

4. % Imitation

Question Number : 113 Question Id : 7532294767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR A1 UG A U7 R o oIl HHaR! gRT 9H TR URASHT & JHT TR T BT 1 Heardl g7
Options :

1.¥ W‘f I (Operant conditioning)

2. % URURSD 3{JP I (Classical conditioning)

3. % HWIIdI (Habituation)




4, % 3{IDHUT (Imitation)

Question Number : 114 Question Id : 7532294768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Person associated with good perfume is found to be attractive is type of learning.
Options :

1. # Operant conditioning

2. ¥ (lassical conditioning

3. ¥ Habituation

4. % Imitation

Question Number : 114 Question Id : 7532294768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T (TRVGH) T g3 fad BT ATHYS BIdl ¢ | T8 fohd UBR & S1FRATH HT IS8R0 82
Options :

1. % ?Qg_cf g I (Operant conditioning)

2. ¢ URURS 3{JP el (Classical conditioning)

3. % 3RIJdI (Habituation)

4. % 3D (Imitation)

Question Number : 115 Question Id : 7532294769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is referred as the building blocks of thinking as per Piaget?
Options :

1. ¥ Schemas

2. % Adaptation

3. % Assimilation

4. % Organisation



Question Number : 115 Question Id : 7532294769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 f5a I & A st & =0 & ST S g2

Options :

1. ¢ TARIS Fequ]
2. % 3fJHad

3. % S{THTTH
4. % e

Question Number : 116 Question Id : 7532294770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Jean Piaget, a child nodding his head in response to a telephonic conversation is an example of
Options :

1. # Animistic thinking

2. % Ego centrism

3. % Reversibility

4. # Conservation Psychology

Question Number : 116 Question Id : 7532294770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH F= S R JIdid & S § T RR RA@IE, S 1 U Il g
Options :

1. % Sftgdral fid (Animistic thinking)

2. %ﬂm (Ego centrism)

3. % IhHUIgAr HHIfaH (Reversibility Psychology)

4. % IRe&fU1 AAIfGIH (Conservation Psychology)



Question Number : 117 Question Id : 7532294771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ecological systems theory was proposed by
Options :

1. # Erik Erikson

2. % Jean Piaget

3. # Lev Vygotsky

4. ¥ Urie Brofenbrenner

Question Number : 117 Question Id : 7532294771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

giRfRUfa® a3 Rigid SR URdTiad foear ar T

Options :

1. % TR TRE (Erik Erikson)

2. % S foamst (Jean Piaget)

3. % 9 AP (Lev Vygotsky)

4. ¢ @ EIEBEEN (Urie Brofenbrenner)

Question Number : 118 Question Id : 7532294772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Permanent store house of the mind is
Options :

1. % Working memory

2. ¥ Long term memory

3. ® Short term memory

4. ® Sensory register

Question Number : 118 Question Id : 7532294772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 7 T {58 7 &1 R W98-T[8 Fg1 off 9ehdl 62
Options :

1. % ichd Wfd (Working memory)

2. ¢ HABIID F:jﬁf (Long term memory)

3. % 3{PIcldh {fd (Short term memory)

4. % Had} ufsret (Sensory register)

Question Number : 119 Question Id : 7532294773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aesthetic appreciation is related to
Options :

1. # Kinesthetic Intelligence

2. # Interpersonal Intelligence

3. # Intrapersonal Intelligence

4. ¥ Naturalist Intelligence

Question Number : 119 Question Id : 7532294773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jicdygar A gERId Rl

Options :

1. % Tfd Yad! §f U (Kinesthetic Intelligence)

2. % JfRagfdas §®IIT'H (Interpersonal Intelligence)
3. % JfARIdgfdas §®T|T'ﬂ (Intrapersonal Intelligence)

4. ¢ Upiddidl §fGHT (Naturalist Intelligence)

Question Number : 120 Question Id : 7532294774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Arrange the sub-stages of Jean Piaget's sensori-motor stage.
1. Primary circular reaction

2. Mental representation

3. Secondary circular reaction

4. Simple reflexes

5. Coordination of Secondary reaction

6. Tertiary circular reaction

Options :

1. % 4,3,5,1,6,2
2.% 4,3,6,5,1,2
3.9°4,1,3,5,6,2
4. % 4,6,5,3,1,2

Question Number : 120 Question Id : 7532294774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OISt (Piaget) & YGRS IRUT o IU-TRUI o] HaRYT HIoNT |
1. grfires gt Uidishar

3. o it i
4. TS 3y h-fehamd
5. fedia® ufaferar &1 9o-ag

6. Jcitaes girg ufafebar

Options :

1. % 4,3,5,1,6,2
2.% 4,3,6,5,1,2
3.9°4,1,3,5,6,2
4. % 4,6,5,3,1,2
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Question Number : 121 Question Id : 7532294775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Day care centre/school is a part of

Options :

1. ¥ Microsystem
2. % Mesosystem
3. #* Exosystem

4. ® Macrosystem
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Question Number : 121 Question Id : 7532294775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 PR e/ gy HITP T
Options :

1.¥ ﬁ&ﬂ?ﬁ (Microsystem)

2. % TYdF (Mesosystem)

3. ® GIEdT (Exosystem)

4. ® AT (Macrosystem)

Question Number : 122 Question Id : 7532294776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to WHO, healthy child doubles his birth weight by months.
Options :

1. %3

2.9 6

3.%9

4, % 12

Question Number : 122 Question Id : 7532294776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHO & 3R, W 8 & 57 & 999 BT UR H18 H SRIAT 1 ST g |
Options :

1.%3

2.¥6

3.%9

4. % 12

Question Number : 123 Question Id : 7532294777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The thick and yellowish fluid secreted in the mammary gland during the first two/three days after delivery is called
Options :

1. # Hindmilk

2. % Foremilk

3. % Colostrum

4. % Transition milk

Question Number : 123 Question Id : 7532294777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugd & §1c Ugd ql/did famt & gRI W= 3 § Tifad T 3iR el aRd o1 Hgdrdl 82
Options :

1. % UYg™ (Hindmilk)

2. % HYG™ (Foremilk)

3. ¥ qdg™ (Colostrum)
4. % ARITIR G (Transition milk)

Question Number : 124 Question Id : 7532294778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Deficiency of vitamin A in children causes
Options :

1. # Rickets

2. ¥ Bitot spots

3. % Beri-beri

4. ¥ Scurvy

Question Number : 124 Question Id : 7532294778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 # ATt A &) HH & HRUT DI T BT 82



Options :

Question Number : 125 Question Id : 7532294779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The disorder that involves repeated or chronic ingestion of non-nutrient substance is called
Options :

1. ¥ Marasmus

2. % Kwashiorkar

3. % Caries

4. ¥ Pica

Question Number : 125 Question Id : 7532294779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3@ yard foH s UIve I g 81dl o, Bl g gRT TR-TR WH B DI HA1 49 H ¥ fhy fabR &1 wein g2
Options :

1. # ﬁ@Tﬁ‘T (Marasmus)

2. % PHIRTARBR (Kwashiorkor)

3. ® &Y (Caries)

4. ¢ TQUTT 8T (Pica)

Question Number : 126 Question Id : 7532294780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One of the following is not a communicable disease.
Options :



1. ¥ Anemia
2. # Measles
3. % Tetanus
4. # Typhoid

Question Number : 126 Question Id : 7532294780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifad # 3 o1 91 U ohTHe I 1] 67
Options :

1. ¢ TAHAT (Anemia)

2. % WU (Measles)

3. % TeA9g (Tetanus)

4. ¥ CIYWPISS (Typhoid)

Question Number : 127 Question Id : 7532294781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A child with pale lips and tongue is said to suffer from
Options :

1. # Xerosis

2. % Beriberi

3. # Scurvy

4. ¥ Anemia

Question Number : 127 Question Id : 7532294781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uidt gio 3R ity ardt 92 & J ifsd peT a8l

Options :
1. ® Y[ChdT (Xerosis)



2. % aﬁaﬁ(Beriberi)
3. % WAl (Scurvy)
4. « THITHAT (Anemia)

Question Number : 128 Question Id : 7532294782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bloody diarrhoea is otherwise called as
Options :

1. ¥ Mumps

2. ¥ Dysentery

3. # Scabies

4. % Measles

Question Number : 128 Question Id : 7532294782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR BT 3R o A1 & ST 7T 82
Options :

1. % IeT3T (Mumps)

2. ¢ ORI (Dysentery)

3. % WIS (Scabies)

4. # LI (Measles)

Question Number : 129 Question Id : 7532294783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the best source of calcium
Options :

1. ¥ Milk

2. % Vitamins



3. # Pulses
4. % Rice

Question Number : 129 Question Id : 7532294783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & § o iR T T 3T Wi 37
Options :

l.¥g¥

2. % fqero=g

3. % ardd

4, % dIdd

Question Number : 130 Question Id : 7532294784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pick out the Integrated Child Development Services (ICDS) component that was not given due importance amidst its tremendous expansion.
Options :

1. # Supplementary nutrition

2. # Nutrition and health education

3. ®* Immunisation

4. % Preschool non formal education

Question Number : 130 Question Id : 7532294784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICDS & 39 Ycdh D] TG DITOIT ol 38b STeRGHd AR o e JifId Hged g1 feam mam Um
Options :

1. % YQRP YIyo]

2. % UINUT SR Wy e

3. % gfaRem



4. WA SHETRSG fRen

Question Number : 131 Question Id : 7532294785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the core objective of Early Childhood Education curriculum for the children of 4-6 years
Options :

1. ® Early stimulation

2. ¥ Learn while you play

3. % School readiness

4. % Home substitute

Question Number : 131 Question Id : 7532294785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4-6 9N & S & (A ECE UG H & T I£3d P! Ugd HIog |
Options :

1. % 3RIYPH I (Early stimulation)

2. ¢ WA WA H IraAT (Learn while you play)

3. % fJ9ITeTd IRl (School readiness)

4. % g UfRITYT (Home substitute)

Question Number : 132 Question Id : 7532294786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the plan that serves as a basic guide to include the types of activities to meet the goals of early childhood education centres.
Options :

1. # Short term

2. % Medium term

3. ¥ Long term

4. % Mid term



Question Number : 132 Question Id : 7532294786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T ¥ 3 IISH1 1 UgaH Hiforg ot RIS STearawdT f1e oral & d&dl 1 T o o olE T Ut Jof (e 11 & &0 H BT Bl
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Options :

1. % 3{cq 3y (Short term)

2. % TY gy (Medium term)

3. ¢ & 3afy (Long term)

4. % T A (Mid term)

Question Number : 133 Question Id : 7532294787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should meet child needs, and therefore variations in scheduling would occur?
Options :

1. # Yearly schedule

2. % Weekly schedule

3. ¥ Daily schedule

4. % Mid-term schedule

Question Number : 133 Question Id : 7532294787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 7 @ fbd safad sazaebdrafl ol QT 61 =1fe T, difds gHg YRUft H ey gl
Options :

1. % gIYcs THT RO (Yearly schedule)

2. % e U gRoft (Weekly schedule)

3. ¢ ¢fe Tg gRvft (Daily schedule)

4. % TY-3{9fY gy IR (Mid-term schedule)




Question Number : 134 Question Id : 7532294788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the plan that provides the details of exactly what the early childhood educators will do.
Options :

1. ¥ Short term

2. % Medium term

3. # Long term

4. ¥ Mid term

Question Number : 134 Question Id : 7532294788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AISHT $1 UG PIOTT ST 39 &1 BT (AR UGH B0l & b RIS STedrawi & fR1gd arad & .1 Hr
Options :

1. ¢ 3T 3(afY (Short term)

2. % OY 3{qfY (Medium term)

3. % ¥ 3afy (Long term)

4. % T I (Mid term)

Question Number : 135 Question Id : 7532294789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Festivals and celebrations are examples of
Options :

1. ¥ Yearly schedule

2. # Weekly schedule

3. % Daily schedule

4. ¥ Mid-term schedule

Question Number : 135 Question Id : 7532294789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ISR 3R ARG P IR |
Options :

1. ¢ aiffe HTdpH
2. % Oifed HRHH
3. % ¢ BrfepH
4. % A-3E HRIHH

Question Number : 136 Question Id : 7532294790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Early childhood education is a process of offering opportunities to children to meet the needs.
Options :

1. # Educational

2. ® Social

3. ¥ Developmental

4. % Emotional

Question Number : 136 Question Id : 7532294790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS TG B! &M TA BT SAIIH TSN Bl I B &b AR Y& 6 &1 Th Ufehar g |
Options :

1. % e

2. ® FrATSID

3. ¢ fderaTHs

4. % YIdIHD

Question Number : 137 Question Id : 7532294791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A sense of aesthetic appreciation could be well developed through
Options :

1. # Story telling

2. ¥ Creative Activities

3. % Circle time

4. % Readiness session

Question Number : 137 Question Id : 7532294791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e w=i & gug &Y & A1 § yeltuifa s foar s awar g
Options :

1. % gl are

2. ¢ THATHS Tt

3. % I IO (g H Dt o= drett it o gu)

4, % dARAT 94

Question Number : 138 Question Id : 7532294792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Modelling or collage is an example of as a means of curriculum
Options :

1. # Theme based approach

2. ® Activity based approach

3. % Project approach

4. ¥ Integrated approach

Question Number : 138 Question Id : 7532294792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfereaur (@s o) a1 wqfeId o (@ lar) PPV BT TH I 3|




Options :

1. % faw-aneria oo
2. % Ay emRd efFaio
3. ¢ URAISHT 2 fFehiuT

4. % i T

Question Number : 139 Question Id : 7532294793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The evaluation of should be totally informal and flexible.
Options :

1. % Indoor equipment

2. % Programme

3. % Children

4. % Outdoor equipment

Question Number : 139 Question Id : 7532294793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 i Quid: SHITETRS 3R 78 g1 a1feu|
Options :

1. % 3T IUIH

2. % HRHH

3. ¥ §=

4. % QiR ITAR

Question Number : 140 Question Id : 7532294794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the activity with its related toys.

1. Block play a. dolls and stuffed toys



2. Dramatic play b. fine motor activity
3. Creativity c. constructing
4. Lacing and buttoning d. arts and crafts

Options :

1. ¥ 1l-c, 2-a, 3-d, 4-b
2. % l-c, 2-b, 3-d, 4-a
3. ® 1-b, 2-a, 3-c, 4-d
4. #® 1-a, 2-b, 3-c, 4-d

Question Number : 140 Question Id : 7532294794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad o1 fieam i

1. & w faam 2. ST 3R HRaT fgam
2. AlCHIT T b. & U= Tfafafy

3. TATHST c. fmfor

4. BIAT MR IS T d. Hell 3R e
Options :

1. ¥ 1-c, 2-a, 3-d, 4-b
2. % l-c, 2-b, 3-d, 4-a
3. ® 1-b, 2-a, 3-c, 4-d
4. # 1-a, 2-b, 3-c, 4-d
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Question Number : 141 Question Id : 7532294795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A good preschool programme should be
Options :

1. * Elaborate and complicated

2. * Rigid and time-bound

3. ¥ Predictable and flexible

4. % Periodic and fragmented

Question Number : 141 Question Id : 7532294795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I0H QA= HrisH RRIEIRY

Options :



1. # faegd SR oifed
2. % HER IR JHI-Tg

3. ¢ Qaiag 3R T9
4. % 39 3R Tfga

Question Number : 142 Question Id : 7532294796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the most common approach used in teaching young children in early learning centres.
Options :

1. ¥ Theme-based approach

2. # Actitvity-based approach

3. # Structured approach

4. % Integrated approach

Question Number : 142 Question Id : 7532294796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M e FHgl A e 5= B UgH & AT foru OF aTel 9aifdies I 2P 3 ugen 3 |
Options :

1. ¢ fawg-eerRd effepiun

2. ® Tffafy-snerid o

3. % WA eBpIur

4. % Tblpd EFDI

Question Number : 143 Question Id : 7532294797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Completing the story’ is an activity that CANNOT be used to enhance
Options :

1. ¥ Communication skills



2. # Literacy skills
3. ¥ Motor skills
4. ® Creative skills

Question Number : 143 Question Id : 7532294797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT B guf BT Tep Tt fafafer 3 o e[ & fore yai =) fosam o ghar g
Options :

1. % HIR PIA

2. % &R B

3. ¥ URI DR

4. % TP DI

Question Number : 144 Question Id : 7532294798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first transition that a child experience is
Options :

1. # Class to class transition

2. ® Transition between activities

3. ¥ Home to daycare transition

4. ® Preschool to formal schooling transition

Question Number : 144 Question Id : 7532294798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEaT STRITR Sl T Tl 3Hd HRl &, 98 1 /7
Options :

1. % HEl H HE SaRITR

2. % TATATET & o SRR



3. ¥ IRY 'S HW g TR
4. % N-1pd ¥ Su=iRe e § sarifaR

Question Number : 145 Question Id : 7532294799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Planning of programme in early childhood learning centres is usually carried out in facets.
Options :

1. % Two

2. % Three

3. # Four

4. ® Five

Question Number : 145 Question Id : 7532294799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS TR ST Bl & UTGAHH BT o1 AHRIG: aeit o IR BT e B
Options :

1% Q

2. ¢ A

3. % IR

4. % O/

Question Number : 146 Question Id : 7532294800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ECE program grooms , , domains.

Options :
1. ¥ Physical, cognitive, socio emotional
2. # Cognitive, social, emotional

3. % Language, vocabulary, mental



4. ® Moral, cognitive, socio-emotional

Question Number : 146 Question Id : 7532294800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECE ®RihH , , & IR &Rl B
Options :

1. ¢ Mifie, IIHTHD, TS - HITATHD

2. % TS, FHISD, HIGATHSD

3. ® YV, YecTaell, AFRYS

4. % D, GAFTHD, JTHTR - HIGATHS

Question Number : 147 Question Id : 7532294801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The preschool age is also called as
Options :

1. ® Late childhood years

2. ¥ Questioning age

3. # Concrete operational stage

4. ® Integrity stage

Question Number : 147 Question Id : 7532294801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M-Tpd 31 ft Hgard g

Options :
1. % fodifad Srearew oy (Late childhood years)

2. ¢ UYTIPd 3T (Questioning age)
3. % ﬂjw IR (Concrete operational stage)

4. % Tblpd AR (Integrity stage)




Question Number : 148 Question Id : 7532294802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Play is the natural unfolding of the germinal seeds of childhood. Who said this?
Options :

1. # Schiller

2. % Groos

3. ¥ Froebel

4. % Piaget

Question Number : 148 Question Id : 7532294802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W, FTeTaRIT & YUllg SigRT (SIfHa HIgH) BT Mdhiad U I Udhe 8- & | T8 foham da1 um

Options :

1. % fRICR (Schiller)
2. # UY (Groos)
3.¥ Q’T\@?f(Froebel)
4, ® fq'CI'IT;T(Piaget)

Question Number : 149 Question Id : 7532294803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Assertion (A) : Play enhances creativity
Reason (R) : Play enhances cognitive development

Options :

1. # A and R are valid. But R doesn’t explain A

2. % A and R are valid. R is the right explanation of A
3. % A isvalid. R is not true

4. % Both A and R are not valid



Question Number : 149 Question Id : 7532294803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AHBYT (A) : W TATHS AT B I&TdT &
BRI (R) : T GIATHD [IHT B ISl &
Options :

1. % A 3RRIAYZ| AMPAR, A B! AT T8I HdT &
2. ¢ A3RRAYEIR, A B el ARSI §

3. % A 3RR I Y TR @

4. % A 3R R I AR TSR

Question Number : 150 Question Id : 7532294804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the play that promotes the development of motor muscles
Options :

1. ¥ Physical play

2. % Dramatic play

3. % Adventurous play

4. ® Fantasy play

Question Number : 150 Question Id : 7532294804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS HIGURMY (motor muscles) & fIHTT &I FGIAT ¢ 910 WA &I Ugd BHITod |
Options :

1. ¢ RIS Tfafafy

2. ® eIy Tfdfafey

3. % JHEIHR] Al

4. % Tt fafafy




Question Number : 151 Question Id : 7532294805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Match the activity with values of play.

Activity

Values of play

1. Interaction with peers

a. Physical development

2. Playing with blocks

b. Social development

3. Outdoor vigorous play

c. Emotional development

4. Taking turns in play

d. Cognitive development

Options :

1. ¥ 1-b, 2-d, 3-a, 4-c
2. % 1-b, 2-d, 3-c, 4-a
3. % 1-b, 2-c, 3-a, 4-d
4. % 1-b, 2-a, 3-c, 4-d

Question Number : 151 Question Id : 7532294805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Tfafafer o1 39d gedi & 1Y e Hifog|

UINIEIR] A & e

1. Tl o TTY STaed A RIRING (B
0. Sld Wl b. IS [dHT
3. 3TICSR YHITH T c. HTIaATH® [abTd
4. YIIGRT Td d. IS b
Options :

1. ¥ 1-b, 2-d, 3-a, 4-c
2. % 1-b, 2-d, 3-c, 4-a
3. % 1-b, 2-c, 3-a, 4-d




4. ® 1-b, 2-a, 3-c, 4-d

Question Number : 152 Question Id : 7532294806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Playing with beads facilitates development.
Options :

1. ® Emotional development

2. % Social development

3. # Gross motor development

4. ¥ Fine motor development

Question Number : 152 Question Id : 7532294806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS O™ S G S g
Options :

1. % YTG-THD [dhTY

2. % AT fahra

3. % bl UMY faprg

4. & URMY fahTy

Question Number : 153 Question Id : 7532294807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Interaction with peers is seen in

Options :

1. # Traditional games

2. # Sensory motor play

3. ® Gadget play

4. ¥ Social play



Question Number : 153 Question Id : 7532294807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1! & 1Y sTdid 9 § fobd YR & Wl § 9Hd g2
Options :

1. % URUR® Wl |

2. % M Wdl o

3. % ToiT SenRd Qe §

4. GrATSIh Well |

Question Number : 154 Question Id : 7532294808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are stages in Parten’s play
Options :

1.%3

2.% 4

3.%5

4. ¥ 6

Question Number : 154 Question Id : 7532294808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a1 A § fara! SRy gl 82
Options :

1. %3

2.% 4

3.%5

4. ¥ 6



Question Number : 155 Question Id : 7532294809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the play develops social skills in the children as they interact with each other?
Options :

1. ¥ Cooperative

2. % Onlooker

3. # Solitary

4. % Parallel

Question Number : 155 Question Id : 7532294809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{5 TR & Wl & 9= U gOR & 1Y S BRd &, FoRId 378 Q1o oIId f[adwiid gidT 82
Options :

1. ¢ Tga

2. % U&dh

3. ® Uhd

4. % gUIMR

Question Number : 156 Question Id : 7532294810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the columns

Theory Founder

1. Recreation play a. Parten

2. Sensory play b. Moritz Lazarus

3. Unoccupied play c. Maria Montessori
Options :

1. # 1-a, 2-c, 3-b
2.9 1-b, 2-c, 3-a
3. % 1-c, 2-b, 3-a



4. % ]-c, 2-a, 3-b

Question Number : 156 Question Id : 7532294810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
75 &1 gafea sifee|

. .
1. FARSH @d a. TTEH (Parten)

2. Hadl @d b. HIRST ToIRY (Moritz Lazarus)
3. g Wd c. Hieast (Montessori)
Options :

1. # 1-a,2-c,3-b
2.9 1-b, 2-c, 3-a
3. % l-c,2-b, 3-a
4. % 1-c,2-a, 3-b

Question Number : 157 Question Id : 7532294811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is characteristic of observation?1. Objective description of behaviour2. Judgmental tags attached to a behaviour
Options :

1. ¥ 1

2.% 2

3. ® Both 1 and 2

4. ® None of the given option

Question Number : 157 Question Id : 7532294811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad & ¥ o 91 fde sradie ot lavar g2
1. dgR o1 [avguRes faarur




2. IR ¥ I TS ¢
Options :

1. ¥ $ad |

2. % Had 2

3. % 1 3R 2 gHf

4. % A1 3RAE 2

Question Number : 158 Question Id : 7532294812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An initiative aimed at the universalization of elementary education is
Options :

1. # Distance Primary Education Programme

2. ¢ Sarva Shiksha Abhiyan

3. # Integrated Child Development Services

4. % Early Childhood Education Scheme

Question Number : 158 Question Id : 7532294812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh UBd Sl SR e & rifieseor iR aféra 2, gl
Options :

1. % g Ui e erden

2. ¢ 94 R e

3. % UDHIphd a1 [Abr Jard

4. % RIVD FTearaRIT FRUe TS

Question Number : 159 Question Id : 7532294813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of assessment gives accurate and objective results?



Options :

1. ¥ Standard assessment

2. % Dynamic assessment

3. % Observation assessment

4. % Informal assessment

Question Number : 159 Question Id : 7532294813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohg YR &1 Hedih i 3R IXGY TR aT &2
Options :

1. ¢ HAFD ™I

2. % TTATHD Hedlh

3. % 3{dcllh Gedih

4. % FEIERS edid-

Question Number : 160 Question Id : 7532294814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The test that compares the score of an individual with a predetermined standard score is called
Options :

1. # Achievement referenced tests

2. % Norm referenced tests

3. % Readiness referenced tests

4. % Criterion referenced tests

Question Number : 160 Question Id : 7532294814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 UteruT T fopeft aafat & TTwdier &t o gd Rufid A uidie! ¥ Rl @ FHEAT 5|

Options :




1. % Iuaisy Yeffd atemn
2. ® YiaH Tafiid uieon
3. % IR Yeid uiefor
4. ¢ AHES Hehid ustefor

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 161 Question Id : 7532294815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Discipline4

9
753229253
0

0

No

No

0

20

No

Discipline4

753229253
1

Online
Mandatory
20

20

20

Yes

1
753229304
Yes



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The events when recorded chronologically to depict the behaviour/performance of a child are called
Options :

1. % Anecdotes

2. % Running records

3. # Video tapes

4. # Audio tapes

Question Number : 161 Question Id : 7532294815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & P TIR/MG Bl ST & o Brefgepr i wu d sififef@d geiefisdl  dgIomarg|
Options :

1. # JURATT (Anecdotes)

2. % qdd GHEIO% (Running records)

3. % difsaicy (Video tapes)

4. % 3fifedr ey (Audio tapes)

Question Number : 162 Question Id : 7532294816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gathering facts and information about a child
Options :

1. % Studying the information collected

2. % Revising and reviewing the information
3. ¥ Providing high quality education

4. % Gathering facts and information about a child

Question Number : 162 Question Id : 7532294816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T & T UfhaT g
Options :

1. % g2 & fouy & g 3R IHGR! T B
2. % THHD THBR] BT HTTT B
3. ¢ BRI BT M 3R I THie B
4. % I TUIGATYU! FRI&T UaH HA

Question Number : 163 Question Id : 7532294817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A detailed explanation of a situation or an event involving the child is called
Options :

1. # Rubrics

2. # Rating scales

3. ¥ Descriptive records

4. # Frequency counts

Question Number : 163 Question Id : 7532294817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I O eferd fordt fufa a1 e &t favga e a1 Feard 82
Options :

1. % fewuft (Rubrics)

2. % Waﬂﬁ (Rating scales)

3. ¢ FUATHS AT (Descriptive records)

4. % JRIRAI UMD (Frequency counts)

Question Number : 164 Question Id : 7532294818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Asking questions is an indication of better



Options :

1. # Sensory development
2. ¥ Cognitive development
3. % Aesthetic sense

4. # Emotional development

Question Number : 164 Question Id : 7532294818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UHYSA_ PIUD dgaR Ybd 6
Options :

1. % Hadt fasry

2. ¥ I fdbra

3. % Figd ay

4. % YIGATHSD [dhg

Question Number : 165 Question Id : 7532294819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability to understand that the words are made up of various sound units and are segmented as ‘syllables’ is called
Options :

1. * Vocabulary

2. % Fluency

3. ¥ Phonology

4. % Comprehension

Question Number : 165 Question Id : 7532294819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teg A eaf gopTeal @ 91 § fore 'Xeaixr ol 91T 7, I8 It JHe =T Heardl o2

Options :




1. # W(Vocabulary)

2. % YRIYAIRdT (Fluency)

3. ¢ GH-fd3M (Phonology)
4. % Uy (Comprehension)

Question Number : 166 Question Id : 7532294820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Producing consonant/vowel sounds is called as
Options :

1. # Crying

2. % Cooing

3. ¥ Babbling

4. % Vocabulary

Question Number : 166 Question Id : 7532294820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FIST/R A1 I PR B T BT STl 52
Options :

1. % AT (Crying)

2. % W(Cooing)

3. % dgdgIHI (Babbling)

4. % TQIAAl (Vocabulary)

Question Number : 167 Question Id : 7532294821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The complexity of sentence structure in language development refers to
Options :

1. % Vocabulary



2. * Phonetics
3. ¥ Syntax

4. % Semantics

Question Number : 167 Question Id : 7532294821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTST 3 e o ITeRT TReTT b} el fararah! Teffd el 82
Options :

1. % Tl (Vocabulary)

2. % @f-fagH (Phonetics)

3. ¢ 9I-fa=I (Syntax)

4. % Y- fog= (Semantics)

Question Number : 168 Question Id : 7532294822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A combination of receptive and expressive language is referred to as
Options :

1. % Syntax

2. % Academic discourse

3. ¥ Vocabulary

4. % Script language

Question Number : 168 Question Id : 7532294822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEURIA SR UGS TN & HIe Bl ford =0 § Haid foar ST 52
Options :

1. % qrg-fo=am (Syntax)

2. % JfDHIGIHB JHYT (Academic discourse)



3. ¢ Qea[aa (Vocabulary)
4. % TIf0 uTe (Script language)

Question Number : 169 Question Id : 7532294823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the most effective instructional strategy to foster language development. in children is:
Options :

1. # Positioning

2. ¥ Modeling

3. % Empowering

4. # Problem-solving

Question Number : 169 Question Id : 7532294823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=t § YN far &) 9grar o= & forw aifie gurdt fAd=nets Jumifa o1 9 Idg|
Options :

1. % fRyfa fgRo

2. ¢ Yid=qul

3. % R dAT-1

4. ® JHY-JHTYTT

Question Number : 170 Question Id : 7532294824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Improvement in language and memory indicates development in
Options :

1. # Physical domain

2. % Emotional domain

3. % Social domain



4. ¥ Cognitive domain

Question Number : 170 Question Id : 7532294824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR YRAAFYUR T g &1 ERd et g
Options :

1. % ifd® U8 (Physical domain)

2. % Y[a-THSD Y& (Emotional domain)

3. ® AP Y& (Social domain)

4. ¢ GIHETHSD Y& (Cognitive domain)

Question Number : 171 Question Id : 7532294825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vocabulary capacity at 3 years of age in a child is words.
Options :

1. % 50

2. %1000

3. % 5000

4. % 10,000

Question Number : 171 Question Id : 7532294825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

394 DI 3T T UH Tl B! WaIach & fdha Ueg B! Bleh 62
Options :

1. % 50

2. % 1,000

3. % 5,000

4. % 10,000




Question Number : 172 Question Id : 7532294826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
and are the most common language from birth to 6 months.

Options :

1. % Crying and laughing
2. % Cooing and babbling
3. # Sounds and gestures

4. % One word and gestures

Question Number : 172 Question Id : 7532294826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S ¥ 6 H18 A 3R AT QT U gl ¢ |
Options :

1. % ¥ad 3R g

2. ¢ fHABT 3R TSISH

4. % TP Weg 3R HIG-HRHTY

Question Number : 173 Question Id : 7532294827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per Noam Chomsky LAD means
Options :

1. # Level of Activity Development

2. ¥ Language Acquisition Device

3. % Language Ability Detector

4. # Level of Ability Device

Question Number : 173 Question Id : 7532294827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

LAD &1 quiey F7 82

Options :

1. % Level of Activity Development (319d 31% Ulaefdd] Saaudc)
2. ¥ Language Acquisition Device (ﬁﬁﬁ TR fearss)

3. # Language Ability Detector (ﬁ?é?rr U@ﬁ‘l—(ﬂ %%W)

4. % Level of Ability Device (diad 3Tt Tfaferd f&arg)

Question Number : 174 Question Id : 7532294828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Developing pre-number and number concepts is the milestone to be achieved under the domain of development.
Options :

1. ® Language

2. % Social

3. % Cognitive

4. ® Sensory

Question Number : 174 Question Id : 7532294828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td-T3T 3R e Taeft SrauRumat &l fawmRid &1 faer & fobg ues 3 3faiq uTe fham S arel e 82
Options :

1. % YT

2. % YHTSTH

3. ¢ YIHATHSD

4. % Fad!

Question Number : 175 Question Id : 7532294829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Identify an activity in which a child can be helped in getting better at adding and subtracting
Options :

1. ¥ Block play

2. % Water play

3. # Rough and tumble play

4. ® Puzzles

Question Number : 175 Question Id : 7532294829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sire- 3R g waeh dforarsii o1 Wraw & forg wgraes Tfafafd &t ugam g & 9 Sifvm|
Options :

1. ¢ sl & (Block play)

2. ® UMl & W (Water play)

3. % 3] US WA WA (Rough and tumble play)

4. % Ugferdl (Puzzles)

Question Number : 176 Question Id : 7532294830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the approximate age group with the developmental milestone in learning mathematics.

Age Developmental Milestones

1. 4 year old a. Understand addition and subtraction
2.5 year old b. Consistently conserve number

3. 6 year old c. Count backwards

4. 7 year old d. Count to 100 from any number
Options :

1. ¥ 1-c, 2-a, 3-d, 4-b
2. % 1-c, 2-d, 3-a, 4-b
3. % 1-c, 2-b, 3-a, 4-d



4. ® 1-c,2-b, 3-d, 4-a

Question Number : 176 Question Id : 7532294830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfOrd e & fas RIS d&dl & 1Y SHIAT 31 &1 freH Sifg |

3 ISEARIGACAN Sl

1439 a. STST 3R T THAT

D.5aY b. T3 DI HH H AT TG
3,699 c. Ject R BT

4. 7Y d. Tt ot 9= ¥ 100 9 R &
Options :

1. ¥ 1-c, 2-a, 3-d, 4-b
2. % 1-c, 2-d, 3-a, 4-b
3. ¥ 1-c, 2-b, 3-a, 4-d
4. ® 1-c,2-b, 3-d, 4-a

Question Number : 177 Question Id : 7532294831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher’s question to a child ‘How many sides does a pyramid have?’ encourages learning
Options :

1. #® Operations

2. % Geometry

3. ¥ Spatial relations

4. ¥ Measurement

Question Number : 177 Question Id : 7532294831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i &1 o= A Uy g1 b U Rifere & et Yot 8t 82 o= o MefRd B2



Options :

1. % Tichgraii o1 g & ferg
2. % AT g & fere

3. ¢ Tfaw Sl &1 diw o ferg
4. % AU G & forg

Question Number : 178 Question Id : 7532294832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the practice example that follows teacher-centered approach.
Options :

1. # Co-constructing

2. # Questioning with constructive feedback

3. % Providing hints for assistance

4. ¥ Modeling

Question Number : 178 Question Id : 7532294832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fR1&1eh-dhod TVBI BT SIERU B dTal 31U & IGIeRU] B g HITolg |
Options :

1. % gg-fAAfo

2. % TIATHS UldfehdT & I1Y UY BT

3. % ggrdl & fold obd Ue™ Bl

4. ¢ gia=yu

Question Number : 179 Question Id : 7532294833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the Developmentally Appropriate (DAP) activities with the age:

1. 3 to 4 years a. Demonstrate the self- help skills, help clean up after any spills




2.4 to 5 years b. Allow children to serve themselves at the table

3. 5 to 6 years c. Allow children to feed themselves

Options :

1. ¥ 1-a,2-c, 3-b
2. % 1-c, 2-a,3-b
3. ¥ 1-b, 2-c, 3-a
4. % 1-b, 2-a, 3-c

Question Number : 179 Question Id : 7532294833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T o 1Y DAP Tl o1 gaferd Hifor|

R 2.%d- TeTId] DI BT UG B, $3 Ui foe" R Iwrg o
' SERGIERS

D. 45Ty b. T P AT R WA &l FU B ¢

3.59 69 c. I B WG4 gl WA @H ¢

Options :

1. ¥ 1-a, 2-c, 3-b
2. % 1-c,2-a,3b
3. ¥ 1-b, 2-c, 3-a
4. % 1-b, 2-a, 3-c

Question Number : 180 Question Id : 7532294834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the skills with the activities:

1. Eye- hand coordination a. squeezing, hammering, pushing and pulling
2. Fine muscles strength b. pouring, straining, scooping, beading

3. Manipulation of tools c. painting, drawing, scribbling, cutting
Options :

1. ®¥ 1-a, 2-c, 3-b



2. % 1-c,2-a,3-b
3.4 1-b, 2-c, 3-a
4. % 1-b, 2-a, 3-c

Question Number : 180 Question Id : 7532294834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfafafert & Ty Sreral ot gaferd B |

. 31G-gTY o= e, gUe A AR, Ydeh] &1 3R Qi

a.
D & =ity 2fad b. IS, B, HSDI I HbTA-T, AUHRIT BT
3. 3UHIN T §L-HITd c. Femraret, Y, Tftedr, o

Options :

1. # 1-a,2-c,3-b
2. % 1-c,2-a,3-b
3.4 1-b, 2-c, 3-a
4. % 1-b, 2-a, 3-c
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Question Number : 181 Question Id : 7532294835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main objective of DAP is to bring maximum potential of children’s
Options :

1. # Academic development

2. % Physical development

3. # Psycho-social development

4. ¥ Holistic development

Question Number : 181 Question Id : 7532294835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DAPHI TS T & PI UHaH el [aHRId g
Options :

1. % 3rpraften faspr

2. % JRIRS faprg

3. % TS fahr

4.« gafifior faewr




Question Number : 182 Question Id : 7532294836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the following plays a vital role in designing outdoor learning environment.
Options :

1. # Interest

2. ¥ Safety

3. % Attitude

4. ¥ Moral

Question Number : 182 Question Id : 7532294836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &1 1@l (outdoor) 1TATH TRaw &1 Affd H # Ayl Y Fumr g2
Options :

1. % 3o

2. gREf

3. % JfghT

4. % fcraar

Question Number : 183 Question Id : 7532294837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The benefits of outdoor learning are:

a. Freedom of expression

b. Enhanced aesthetic appreciation
c. Increased stress levels

d. Increased motivation

Options :
1. # b,c,d only
2. % ab,d only



3. % a,c,d only
4. % ab,conly

Question Number : 183 Question Id : 7532294837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dlgl (outdoor) ST & ATH %

a. SYSfRT DI Taci=dl
b. Gicaidt® a1y & gfa
c. Td & TR ¥ gfg

d. IR H gfg

Options :

1. % &Hdd b,e,d
2. ¢ Hdd ab,d
3. % Wa,c,d
4. % Wa,b,c

Question Number : 184 Question Id : 7532294838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three important factors to be considered while designing outdoor learning environment are
Options :

1. ¢ Safety, space, accessibility

2. ® Space, design, accessibility

3. ¥ Safety, space, design

4. % Space, activity, expense

Question Number : 184 Question Id : 7532294838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR (outdoor) A TRA HI A B THT faaR fpT o arat i Tyl HRE &1 3 g2




Options :
1. ¢ TR, T, IUAT
2. % WY, AMfHDH T, ST

Question Number : 185 Question Id : 7532294839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the first process needed to execute ECE curriculum in a systematic way for achieving all-round development of children
Options :

1. ¥ Programme planning

2. # Teaching pedagogy

3. % Evaluation

4. % Curriculum

Question Number : 185 Question Id : 7532294839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl & Faitiior fdsr & fle, ECE UTaush ! fs1ied = &1 Ufchal & Ugel TRUI 1 Uga b |
Options :

1. ¢ UISTshH Il

2. # HHMYA-hdl

3. % Tl

4. % U&IhH

Question Number : 186 Question Id : 7532294840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The concept of natural outdoor play and learning environment was largely promoted by
Options :



1. ¥ Allen Cooper

2. % Mahatma Gandhi
3. % Jean Piaget

4. # Sigmund Freud

Question Number : 186 Question Id : 7532294840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 forg fagm 7 orm g &, U fes arel uiRas & W 3R S1fvH & s U  9d! &1 g2
Options :

1. ¥ Ucld hUR (Allen Cooper)

2. % HErEA Mgt (Mahatma Gandhi)

3. % S fogrst (Jean Piaget)

4. % e pras (Sigmund Freud)

Question Number : 187 Question Id : 7532294841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the strategies to nurture child’s strengths.

1. open recognition of child's strengths

ii. appreciating the end products rather than the process
1ii. Reinforcement of newly developed skills

iv. open space for children to explore and experiment

Options :

1. # i, ii, iii only
2. % i, 1ii, iv only
3. % i, iii, iv only

4. % ii, iii, iv only

Question Number : 187 Question Id : 7532294841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



< &t XlGadi & IV & o8 SUATHT ST aTelt YUl &1 Ugem difold |

i, ¥ &I Wfgd &I ggaT-T

ii. OfehaT & R TR 3ifad TROMHT &1 TR BT

iii. 79 fapTd B BT gee

iv. Sl B TS diol YR 3TR TANT 3 & [Tl el I
Options :

1. % Had i, ii, iii

2. % HAd, ii, iv

3.« HAd i, iii, iv

4. ® Had ii, iii, iv

Question Number : 188 Question Id : 7532294842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Indoor learning environment is very significant because of which of the following?

a. It’s a place where all learning experiences takes place
b. It’s a place where children feel safe and secure

c. It’s a place where the teacher attends to the child

d. It’s a place where the child is free from pollution

Options :

1. % a,b,candd

2. % a, c,and d only
3. % a, b, and c only
4. % aand b only

Question Number : 188 Question Id : 7532294842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRd & 9 &1 9 SRS MfdRk® (GTeR) fRigm uikaxr &I 9gd eyl a-1d g2
a. I8 Ueb U1 uRawr g e Rien & it srgua e gid €




b. I8 U UHT URax 3 ford s QR iR fAfda srya ad €
. T8 U VT URART § Fores fRiefes o= Bt SRaTet vl

d. T8 T U1 g & s area uguur & e @aT g
Options :

1. # a,b,c3‘ﬁ?d

2. % Wa,c,&ﬁ?d

3. % Wa,b,&ﬁ?c

4. ¢ FHdd a 3R b

Question Number : 189 Question Id : 7532294843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Points of contact for sharing information include

a) Drop and pick up time of child

b) Home events by ECCE providers

c¢) Assessing of emotional, behavioural and social problems
d) Parent participation in classroom

Options :

1. % ¢, d,bonly
2.% a b,donly
3. % a,c,donly
4. % ¢, d,aonly

Question Number : 189 Question Id : 7532294843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STHGRI AT B o foT Hua fofg st # withferd &
2) ¥ B BIeA 3R o T &1 7Y

b) ECCE UaTdT3fl gRT e &1
¢) HIGTHD, SATTRTR® 3R ATHTTS JHETS BT Sha

d) FefT | ATa1-fOd & HRfert




Options :

1. % Hadc, d, b
2. ¥ PHdda, b, d
3. ® Wa,c,d
4. ® Wc,d,a

Question Number : 190 Question Id : 7532294844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It’s important that ECCE provider maintain and when sharing information

Options :

1. # Descriptive and subjective
2. % Tests and Exams

3. % Speed and performance

4. ¥ Positivity and specificity

Question Number : 190 Question Id : 7532294844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE UGIdT §RT MG R! Tl HRdl T 3R §TE g1 Agayul g g |
Options :

|, % gUFIHS 3R AfFTIRD

2. % gty uHemy IR drufafy wdems
3. % Tfq 3R UeRH

4. ¢ HRIAST AR fafRryar

Question Number : 191 Question Id : 7532294845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an element of a preschool programme?
Options :



1. # Flexible
2. # Balanced active and passive activities

3. % Developmentally appropriate
4. ¥ Unpredictable

Question Number : 191 Question Id : 7532294845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ 1.1 qd-Rie (i) reieh 1 Uap Al el 82
Options :

1. # q8

2. % Tgfer WY SR RSy TR

3. % fqprg o =P I Iugad

4. SargHa

Question Number : 192 Question Id : 7532294846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Allotment of a joint project is a must in approach of learning.
Options :

1. # Questioning

2. % Co-construction

3. # Positioning

4. % Empowering

Question Number : 192 Question Id : 7532294846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fR1en & B0 ¥ U Ggad TR & 3fde 3MaRae® ¢ |

Options :

. % U4 U@ b




2. ¢ gg-AATr &
3. % RYfg-FyRor s
4. % gYfade

Question Number : 193 Question Id : 7532294847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The essential features of inclusion used to classify high-quality early childhood programmes are:

a. Access
b. Participation
c. Support
d. Reservation

Options :

1. % a, b,donly

2. % a,c,d,only
3.% a, b, conly

4. % aandd only

Question Number : 193 Question Id : 7532294847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 TUIG aTd RIS SeaTaIT UTushHI &l Jiiidhd B o foTt TRad THIARH P SIS fa=van &

2. TET

b. FEHTIIAT
c.w

d. 3IR&UT
Options :

1. % $hdda,b,d
2. % Wa,c,d,
3. */éb_daa,b,c
4. % PHada 3R d




Question Number : 194 Question Id : 7532294848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the Sustainable Developmental Goal that states ‘Ensure inclusive and equitable quality education and promote lifelong learning
opportunities for all’

Options :

1. % SDG 1
2. % SDG 2
3. ¥ SDG 4
4. % SDG 6

Question Number : 194 Question Id : 7532294848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ &1 1 Tad faer deg g 9iftd $al & fo aHasit Sik g T[urax arelt Riem A &3 iR Gut & fore sioitan fRren
F TR DI FGaT "2

Options :

1. % SDG 1

2. % SDG 2

3. ¢ SDG 4

4. % SDG 6

Question Number : 195 Question Id : 7532294849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify one major factor that leads to exclusion of young children
Options :

1. # Disability

2. ¥ Poverty

3. # Less number of ECE centres

4. # Lack of qualified teachers



Question Number : 195 Question Id : 7532294849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & S T P I P 3T (exclusion) P AR FHRAT 82
Options :

1. % HGHdT

2. ¢ e

3. % ECE gl &l HH Gl

4. % Y frerepl 1 B

Question Number : 196 Question Id : 7532294850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first step in identifying children at risk with a possible disability is
Options :

1. # Interpreting evidence

2. ¥ Screening

3. % Diagnostic testing

4. # Recording observation

Question Number : 196 Question Id : 7532294850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTfad feaaiTar & Wi aTd 9= ot UgaH B & ol Ugdl @Ru A9 & I )T 82
Options :

1. % &N I AT

2. ¢ SAIEUT (FhIf)

3. % QIS W&

4. % 3faclh BT AT




Question Number : 197 Question Id : 7532294851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Participation and service for children with special needs in programmes and settings where their typically developing peers are served is called

Options :

1. % Special education
2. ¥ Inclusion

3. # Early intervention
4. % Charter schools

Question Number : 197 Question Id : 7532294851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U UTeThH IT FaRITE fo78 AR STawgearati ard a<ai ot S-al o THM 3= FTT & 1Y AT b1 St g, T Hedlal a2
Options :

1. % foRiy fRren

2. ¢ GHATA

3. % RfY® gay

4. % YIRS fagmay

Question Number : 198 Question Id : 7532294852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Services for infants and toddlers who are at risk of developmental delay is called as
Options :

1. # Special education

2. % Inclusion

3. % Early intervention

4. % Charter schools

Question Number : 198 Question Id : 7532294852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT fads & Sy ara el 3R I=di & forg Jarefi &1 o1 wgl ol 82
Options :

1. % faury farenm

2. % GHIARA

3. ¢ RSP gau

4. % YIHIRG faemaa

Question Number : 199 Question Id : 7532294853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A child with cerebral palsy, using a device to help him hold a pencil is called
Options :

1. # Digital media

2. % Digital pencil

3. % Assistive technology

4. % Assistive facilitator

Question Number : 199 Question Id : 7532294853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR U1 (cerebral palsy) ¥ U o= &1 U b g H T B & A IUHRUN BT IUTRT BT T Heard 82
Options :

1. % fefored arem

2. % f3forea URa

3. ¢ GEdH dh-1d

4. % JgO®H Jgoidhd!

Question Number : 200 Question Id : 7532294854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who can use voice-activated software as assistive technology?
Options :

1. ¥ Child who lacks the physical ability to write

2. # Child who cannot speak

3. # Child with cerebral palsy

4. ¥ Child with increased distractions

Question Number : 200 Question Id : 7532294854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 @ P ae-gihRd Gitedtr (@159 Ufdedes AUcaddr) &1 TaNT Ged do-ie & &0 § B J&hdl 87

Options :

1. ¢ U1 = R forg bt IR &7l T 31HTd 8l
2. % U g1 ol ol 1 Geball B

3. % TRKTSH °Id (cerebral palsy) ¥ I F=T

4. % gffq fgemdur (increased distractions) dIcil d=l




